
MATHS

BOOKS - MARVEL MATHS (HINGLISH)

TRIGONOMETRIC FUNCTIONS

Examples

1. Show / Prove/ Verify the following :

Watch Video Solution

= . cos + sec
sin2 + cos2 + tan2π

6
π

3
π

6

sec2 − cos2 ππ

4

1

3

π

3

1

√3

π

6

2. Find the acute angle  satisfying the equation

Watch Video Solution

θ

2 sin2 θ − 2√2 sin θ + 1 = 0.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QiLGKh1qOvnK
https://dl.doubtnut.com/l/_OKQ71BxqU1AS


3. Find the acute angle A and B such that 

Watch Video Solution

secA ⋅ tanB − secA − 2 tanB + 2 = 0.

4. Find the acute angles A and B such that

Watch Video Solution

cot(A + B) = and sec(A − B) = .
1

√3

2

√3

5. If  


evaluate : 

Watch Video Solution

sin θ = 4/5, whereπ/2 < θ < π,

secθ + tan θ

cos ecθ − cot θ

https://dl.doubtnut.com/l/_OKQ71BxqU1AS
https://dl.doubtnut.com/l/_8mWc33ZP4gWF
https://dl.doubtnut.com/l/_tXJFnpWBAFzq
https://dl.doubtnut.com/l/_GMug4kQAHCHB


6. If  is not in the second quadrant, find the values

of 

Watch Video Solution

tan θ = − 3/5 and θ

secθ and cos ecθ.

7. If 13  where  where 

, evaluate : 

Watch Video Solution

sinα = 12, π/2 < α < π, and 3 secβ = 5,

3π/2 < β < 2π 5 tanα + 3 tan2 β.

8. Given  


find the value of : 

Watch Video Solution

cot θ = a/b,

a ⋅ cos θ − b ⋅ sin θ

a ⋅ cos θ + b ⋅ sin θ

9. If  


show that : 

secθ + tan θ = m,

sin θ =
m2 − 1

m2 + 1

https://dl.doubtnut.com/l/_76BzGeT75iPy
https://dl.doubtnut.com/l/_F9YDlSNwkZI7
https://dl.doubtnut.com/l/_AqnIpLoHtLfk
https://dl.doubtnut.com/l/_UzV1LKfxUsJ6


Watch Video Solution

10. If  is any real number, find the value of the exprssion : 

Watch Video Solution

θ

sin6 θ + cos6 θ + 3 sin2 θ cos2 θ.

11. If  then find th value of  where

is any real number.

Watch Video Solution

sin θ + cos ecθ = 2, sinn θ + cos ecnθ,

12. If  find the value of sin x if x is an acute angle.

Watch Video Solution

2 cos x = 2 − sinx,

https://dl.doubtnut.com/l/_UzV1LKfxUsJ6
https://dl.doubtnut.com/l/_7lQ8F0w9yv3K
https://dl.doubtnut.com/l/_LjgIDcs4Vs9k
https://dl.doubtnut.com/l/_zF8pq5fcYLco


13. Find the acute angle  if : 


Watch Video Solution

θ,

3 cos ec2θ − 2 secθ = 0.

14. Find the acute angle  such that : 

Watch Video Solution

θ

2 sin θ − √3 secθ + 1 = 0.

15. Eliminate  from the equations : 

Watch Video Solution

θ

x = a ⋅ sin5 θ, y = a cos5 θ.

16. Eliminate  from the equations :ψ(psi)

x = 4cosec  ψ + 5 cot ψ, y = 5 cos ecψ + 4 cot ψ.

https://dl.doubtnut.com/l/_NECXm52CuGAj
https://dl.doubtnut.com/l/_9ZjFrKq9oOvF
https://dl.doubtnut.com/l/_LMx1NPum8t56
https://dl.doubtnut.com/l/_DNXA6zAdqwHc


Watch Video Solution

17. Eliminate t from the following equations : 

Watch Video Solution

x = at2, y = 2at.

18. If  show that 

Watch Video Solution

a cos θ − b sin θ = c,

a sin θ + b cos θ = ± √a2 + b2 − c2

19.  

show that : 

Watch Video Solution

sinα − cosα = m,

sin3 α − cos3 α = .
3m − m3

2

https://dl.doubtnut.com/l/_DNXA6zAdqwHc
https://dl.doubtnut.com/l/_3E68ZYkp0Jsh
https://dl.doubtnut.com/l/_cqo7rSrVhpHC
https://dl.doubtnut.com/l/_AdUbLX7tLXQE


20. If  


show that : 

Watch Video Solution

sin θ = ,
a2 + 2ab

a2 + 2ab + 2b2

tan θ = .
a2 + 2ab

2ab + 2b2

21. Find the value of .

Watch Video Solution

sin 75∘

22. Using Addition and Subtraction Theorem, find the value 

Watch Video Solution

cos 75∘

23. Using Addition and Subtraction Theorem, find the value
tan15∘

Watch Video Solution

https://dl.doubtnut.com/l/_Eh3FQY1VBGmB
https://dl.doubtnut.com/l/_4GVdVM4VviD0
https://dl.doubtnut.com/l/_l9mpzaoS3xbh
https://dl.doubtnut.com/l/_AsgxhPmWIa7V


24. Prove that :

Watch Video Solution

cos(A − B) = cos( + A). cos( + B) + sin( + A). sin( + B).
π

6

π

6

π

6

π

6

25. Show that: 

Watch Video Solution

tan(A + B). tan(A − B) = .
sin2 A − sin2 B

cos2 A − sin2 B

26. Show that: 

.

Watch Video Solution

tan 50∘ − tan 30∘ − tan 20∘ = tan 20∘ . tan 30∘ . tan 50∘

27. Prove that : 

Watch Video Solution

tan 22∘ + tan 23∘ + tan 22∘ . tan 23∘ = 1.

https://dl.doubtnut.com/l/_BwGSnG2imdmI
https://dl.doubtnut.com/l/_lSNdtKypJUCu
https://dl.doubtnut.com/l/_Ay4Lx0JflP7p
https://dl.doubtnut.com/l/_7SlwM1fXVWo3
https://dl.doubtnut.com/l/_m783ybGwcwMz


28. Prove that : .

Watch Video Solution

tan 53∘ = tan 37∘ + 2tan 16∘

29. The value of 

Watch Video Solution

=
tan 700 − tan 200

tan 500

30. If  evalute : 

Watch Video Solution

cos(A − B) = 3/5 and tanA. tanB = 2, cosA. cosB.

31. If , and , then find the value of 

.

Watch Video Solution

tanA − tanB = x cot B − cot A = y

cot(A − B)

https://dl.doubtnut.com/l/_m783ybGwcwMz
https://dl.doubtnut.com/l/_JcvaMWY3t9Vq
https://dl.doubtnut.com/l/_4irFUaH8789n
https://dl.doubtnut.com/l/_rHkNrTGiGqy5


32. If  then  equals

Watch Video Solution

tan(π cos θ) = cot(π sin θ) sin(θ + )
π

4

33. If , show that :  Hence, find

the value of .

Watch Video Solution

α + β = 45∘ (1 + tanα)(1 + tanβ) = 2.

tan(22 )
1∘

2

34. If  show that , 

Watch Video Solution

sin(x − 30∘ ) = 2. cos(x − 60∘ ), tanx = − √3.

35. If . evalute: 

Watch Video Solution

3 tan θ. tanϕ = 1 .
cos(θ − ϕ)

cos(θ + ϕ)

https://dl.doubtnut.com/l/_8gDkwxDElmii
https://dl.doubtnut.com/l/_g2BAWUyoaF7F
https://dl.doubtnut.com/l/_ZwlrjPw2OQp2
https://dl.doubtnut.com/l/_igJLZ4nVEXpK


36. If , then what is the value of

?

Watch Video Solution

sinx + siny = a, cos x + cos y = b

cos(x − y)

37. If  and  lie between 

then find the value of 

Watch Video Solution

cos(α + β) = ; sin(α − β) =
4
5

5

13
α, β 0&

π

4

tan 2α

38. The value of  is:

Watch Video Solution

sin( − 660∘ )tan(1050∘ )sec(420∘ )

cos(225∘ )cos ec(315∘ )cos(510∘ )

39. 4- cot(

Watch Video Solution

+ θ)cot( − θ) = 1
π

4

π

4

https://dl.doubtnut.com/l/_YtNaCDUP8a1J
https://dl.doubtnut.com/l/_nRSVWZ1seDrJ
https://dl.doubtnut.com/l/_yizyKkeEz7pi
https://dl.doubtnut.com/l/_bQOQkKdjmP3c
https://dl.doubtnut.com/l/_2H8kzUBH9EdG


40. 

Watch Video Solution

cos2( − θ) + cos2( + θ) = .... .
π

4

π

4

41. Prove that :

Watch Video Solution

tan 15∘ . tan 25∘ + tan 25∘ . tan 50∘ + tan 50∘ . tan 15∘ = 1.

42. Evaluate the following expression : 

Watch Video Solution

sin2. + sin2. + sin2. .
π

12

3π

12

5π

12

43. 

Watch Video Solution

sin 10∘ + sin 20∘ + sin 30∘ + .......... + sin 360∘ =

https://dl.doubtnut.com/l/_2H8kzUBH9EdG
https://dl.doubtnut.com/l/_miKaF60QTKCf
https://dl.doubtnut.com/l/_liSD1ot4vDl1
https://dl.doubtnut.com/l/_aFfMsQOXQ2wP


44. Find the value of: 

Watch Video Solution

log(tan 1∘ ) + log(tan 2∘ ) + ... + log(tan 89∘ ).

45. If  where  evalute : 

Watch Video Solution

secθ = − 13/5, 90∘ < θ < 180∘ ,

sin 2θ, cos 2θ and tan 2θ.

46. If  lies in the fourth quadrant, evaluate : 

Watch Video Solution

cos θ = 3/7, and θ

sin(θ/2), cos(θ/2), tan(θ/2).

47. Show that 

Watch Video Solution

√2 + √2 + √2 + 2 cos 8θ = 2 cos θ

https://dl.doubtnut.com/l/_qnxBIJs2PSsB
https://dl.doubtnut.com/l/_lRV6lOug4RDg
https://dl.doubtnut.com/l/_O0TeGZ4GNs6I
https://dl.doubtnut.com/l/_pm4CBSfVFNMy
https://dl.doubtnut.com/l/_b6ViLcnfp3Nw


48. Prove that : 

Watch Video Solution

= tan( ).
1 + sinA − cosA

1 + sinA + cosA

A

2

49. Show that : 

Watch Video Solution

cos 9∘ . cos 18∘ . cos 36∘ . cos 72∘ =
sin 36∘

16cos 81∘

50. Prove that


Watch Video Solution

cos 200cos 400cos 600cos 800 = .
1

16

51. Show that: 

Watch Video Solution

4 cosA. cos( − A). cos( + A) = cos 3A
π

3

π

3

52. sin( ) ⋅ sin(5 ) ⋅ sin(7 )
π

18

π

18

π

18

https://dl.doubtnut.com/l/_b6ViLcnfp3Nw
https://dl.doubtnut.com/l/_NPSVoBYpdFwH
https://dl.doubtnut.com/l/_2oNQzLux8fls
https://dl.doubtnut.com/l/_NqWq5wO2tBNb
https://dl.doubtnut.com/l/_xuyYxWBNyMzD


Watch Video Solution

53. If  calculate : .

Watch Video Solution

tanα = 3,
2 sin 2α − 3 sin 2α

4 sin 2α + 5 cos 2α

54. If  evalute : 

Watch Video Solution

p sin θ − q cos θ = 0 p cos 2θ + q sin 2θ.

55. If , evaluate : 

Watch Video Solution

tan2 α = 2 tan2 β + 1 cos 2α + sin2 β.

56. If  find 

Watch Video Solution

sinα + cosα = ,
1

5
tan( ).

α

2

https://dl.doubtnut.com/l/_xuyYxWBNyMzD
https://dl.doubtnut.com/l/_rmarIlLsb00L
https://dl.doubtnut.com/l/_F38CzsEsFJ5h
https://dl.doubtnut.com/l/_DtJ75pwUiurG
https://dl.doubtnut.com/l/_0EdtMsysaAKq
https://dl.doubtnut.com/l/_hbKBCI4l4Brb


57. If  are two angles in the first quadrant such that 

, find 

Watch Video Solution

α and β

sin(α + β) = 1 and sin(α − β) = 1/2 tan(α + 2β).

58. 

Watch Video Solution

cot 15∘ + cot 75∘ + cot 135∘ − cosec30∘ =

59. The value of  is

Watch Video Solution

cos '(2pi)/(15)cos(4pi)/(15)cos(8pi)/(15)cos ,
14π
15

60. Evaluate : 

Watch Video Solution

cos ec10∘ − √3sec 10∘

https://dl.doubtnut.com/l/_hbKBCI4l4Brb
https://dl.doubtnut.com/l/_bclKG8J1QVPI
https://dl.doubtnut.com/l/_UH6fzpC2b7Yo
https://dl.doubtnut.com/l/_5tM47xVxeKaC


61. Prove that:

Watch Video Solution

tan 60tan 420tan 660tan 780 = 1.

62.  is equal

to

Watch Video Solution

(1 + cos. )(1 + cos. )(1 + cos. )(1 + cos. )
π

8

3π

8

5π

8
7π
8

63. If  find  in

terms of a and b.

Watch Video Solution

sin θ + sinϕ = a and cos θ + cos ϕ = b cos( )
θ − ϕ

2

64. If , show that : 

 Hence. Deduce the value

of : 

A + B + C = π

tanA + tanB + tanC = tanA. tanB. tanC

cot A. cot B + cot B. tanC + cot C. cot A

https://dl.doubtnut.com/l/_NTr1W2ckI7kG
https://dl.doubtnut.com/l/_cJrvVomC6KWb
https://dl.doubtnut.com/l/_0fM8m2ER4XCM
https://dl.doubtnut.com/l/_x4KnjeUdsYPB


Watch Video Solution

65. If  show that : 

 Hence deduce

that : .

Watch Video Solution

A + B + C = π,

tan. tan. + tan. tan. + tan. tan. = 1
A

2
B

2
B

2

C

2

C

2

A

2

cot. + cot. + . cot. = cot. . cot. tan.
A

2
B

2

C

2

A

2
B

2

C

2

66. If  then 

Watch Video Solution

A + B + C = π sin 2A + sin 2B + sin 2C =

67. If , prove that : 

Watch Video Solution

A + B + C = π

cos 2A + cos 2B − cos 2C = 1 − 4 sinA sinB cosC

https://dl.doubtnut.com/l/_x4KnjeUdsYPB
https://dl.doubtnut.com/l/_ghoIENA8Zpqg
https://dl.doubtnut.com/l/_yDzdatRbbjLm
https://dl.doubtnut.com/l/_NXUgDYo8A4P8


68. If , prove that : 

Watch Video Solution

A + B + C = π

(cot B + cot C)(cot C + cot A)(cot A + cot B) = cos ecA cos ecB cos ecC

69. If  express  in terms of p.

Watch Video Solution

p = tan 20∘ tan 160∘ − tan 110∘

1 + tan 160∘ . tan 110∘

70. If  show that : 

Watch Video Solution

cos θ = (a + ),
1

2

1

a
cos 3θ = (a3 + )

1

2

1

a3

71. If  are the roots of the equation ,

show that : .

Watch Video Solution

sin θ and cos θ ax2 − bx + c = 0

a2 + 2ac − b2 = 0

https://dl.doubtnut.com/l/_koW4lPF0ZZ6v
https://dl.doubtnut.com/l/_HxjYSeDtBbsG
https://dl.doubtnut.com/l/_nRblQdKX3DZ5
https://dl.doubtnut.com/l/_NSIuFI3F9BCH
https://dl.doubtnut.com/l/_OuyE5yOQ0IrJ


72. If  show that : .

Watch Video Solution

Pn = cosn θ + sinn θ, 2P6 − 3P4 + 1 = 0

73. Evaluate : 

Watch Video Solution

sin 163∘ . cos 347∘ + sin 73∘ . sin 167∘ .

74. 

Watch Video Solution

cos4( ) + cos4( ) + cos4( ) + cos4( ) =
π

8

3π

8

5π

8
7π
8

75. If  then evaluate : (i) 

Watch Video Solution

sinx + sin2 x = 1. cos8 x + 2 cos6 x + cos4 x

https://dl.doubtnut.com/l/_OuyE5yOQ0IrJ
https://dl.doubtnut.com/l/_sfWU0xRwkIm1
https://dl.doubtnut.com/l/_9tPl68dYq1yD
https://dl.doubtnut.com/l/_rx3jUPa7O7Cn


76. If , then find the value of 

Watch Video Solution

sinx + sin2 x = 1

cos12 x + 3 cos10 x + 3 cos8 x + cos6 x − 1

77. If  show that : 

.

Watch Video Solution

p sin θ + q cos θ = a and p cos θ − q sin θ = b,

+ = 0
p + a

q + b

q − b

p − a

78. If . Show that : 

Watch Video Solution

cos θ =
a cos ϕ + b

a + b cos ϕ
tan. = ± √ tan. .

θ

2

a − b

a + b

ϕ

2

79. Prove that:


Watch Video Solution

+ + = (tan 27x − tanx)
sinx

cos 3x

sin 3x

cos 9x

sin 9x

cos 27x

https://dl.doubtnut.com/l/_RGKRQRd1U2mA
https://dl.doubtnut.com/l/_KNhPBBX8neSG
https://dl.doubtnut.com/l/_R5RoM7nd8Tr1
https://dl.doubtnut.com/l/_U7lGIfUr18D3
https://dl.doubtnut.com/l/_G0JkpZDC9edM


Mcqs

80. Let AandB be acute angles such that  and 

. Then A equal to

Watch Video Solution

sinA = sin2 B

2 cos2 A = 3 cos2 B

81. If  evaluate : .

Watch Video Solution

sin θ1 + sin θ2 + sin θ3 = 3, cos θ1 + cos θ2 + cos θ3

82. If x and y are real numbers such that  show that 

.

Watch Video Solution

sin2 θ =
x2 + y2

2xy

x = y

1. If tanA = , then: cosA =
√3 − 1

√3 + 1

https://dl.doubtnut.com/l/_G0JkpZDC9edM
https://dl.doubtnut.com/l/_Hd56hE2obcEq
https://dl.doubtnut.com/l/_AwZLD9mso3KB
https://dl.doubtnut.com/l/_FKQ8yTvCpMrE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3 − 1

2√2

√3 + 1

2√2

(√3 + 1)

(√3 − 1)

2. If ,then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ =
1

√7
= ?

cosec2θ − sec2 θ

cosec2θ + sec2 θ

1

2

3

4

5

6

7

8

https://dl.doubtnut.com/l/_FKQ8yTvCpMrE
https://dl.doubtnut.com/l/_Y5g1IcM3IphR


3. If : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ = , then: =
1

7

2 sin θ + 3 cos θ

3 sin θ + 4 cos θ

32

13

23

13

23

31

13

23

4. If : 

A. 

B. 2

C. 

tan θ + cot θ = 2, then: sin θ + cos θ

(√5)

(√3)

https://dl.doubtnut.com/l/_Y5g1IcM3IphR
https://dl.doubtnut.com/l/_O3u5KlciIXet
https://dl.doubtnut.com/l/_RueqVYd0KLZ2


D. 

Answer: D

Watch Video Solution

(√2)

5. If :  then they measures of

angles A and B are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 cosA ⋅ tanB − 2 cosA − tanB + 1 = 0,

(60∘ , 45∘ )

(30∘ , 45∘ )

(45∘ , 75∘ )

(45∘ , 60∘ )

https://dl.doubtnut.com/l/_RueqVYd0KLZ2
https://dl.doubtnut.com/l/_Z7owRRmWugHn


6. If : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin(A − B) = cos(A + B) = , then: (A, B)
1

2

(15∘ , 45∘ )

(15∘ , 30∘ )

(45∘ , 15∘ )

(90∘ , 0∘ )

7. If : 

A. 

B. 

C. 

D. 

tan(A + B) = √3 and csc(A − B) = 2then: (A, B) =

(30∘ , 60∘ )

(45∘ , 15∘ )

(15∘ , 45∘ )

(60∘ , 30∘ )

https://dl.doubtnut.com/l/_HCw7XDJq9toM
https://dl.doubtnut.com/l/_x7jzKXe10neJ


Answer: B

Watch Video Solution

8. 

Watch Video Solution

+ =
1 − cos θ

1 + cos θ

1 + cos θ

1 − cos θ

9. If : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 2u. (cscθ − cos θ), then: u =
1 + sin θ

1 + cos θ

1 − sin θ

1 − cos θ

sin θ

cos θ

secθ

cscθ

https://dl.doubtnut.com/l/_x7jzKXe10neJ
https://dl.doubtnut.com/l/_KwyVou7W8Nyd
https://dl.doubtnut.com/l/_QoAcbl6jFCjH


10. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos θ ⋅ cscθ − sin θ ⋅ secθ

cos θ + sin θ

secθ − tan θ

cos θ + cot θ

secθ + cscθ

cscθ − secθ

11. 

A. 

B. 

C. 

D. none of these.

+ = 1 + u, then: u
sin2 θ

1 − cot θ

cos2 θ

1 − tan θ

sin θ ⋅ cos θ

secθ ⋅ cscθ

tan θ ⋅ cot θ

https://dl.doubtnut.com/l/_1e15Gc6VZuSB
https://dl.doubtnut.com/l/_UqS1SWoKAnCg


Answer: A

Watch Video Solution

12. 

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

+ =
sin3 θ + cos3 θ

sin θ + cos θ

sin3 θ − cos3 θ

sin θ − cos θ

13. 

A. 0

(cscθ − sin θ)(secθ − cos θ)(tan θ + cot θ) =

https://dl.doubtnut.com/l/_UqS1SWoKAnCg
https://dl.doubtnut.com/l/_apFKwozMmRaY
https://dl.doubtnut.com/l/_hxEtMK3xwN8g


B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

14. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(secθ + tan θ − 1)(secθ − tan θ + 1) =

2 sin θ

2 cos θ

2 secθ

2 tan θ

https://dl.doubtnut.com/l/_hxEtMK3xwN8g
https://dl.doubtnut.com/l/_J6wPv62UKHfT
https://dl.doubtnut.com/l/_SsXc5nuazZGa


15. If :  lt br gt then : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = sec2 x,

(1 + tanA ⋅ tanB)2 + (tanA − tanB)2 =

f(A) + f(B)

f(A) − f(B)

f(A) ⋅ f(B)

f(A) /f(B)

16. If :  


then : k =

A. 1

B. 3

C. 5

(sin θ + cscθ)2 + (cos θ + secθ)2 = tan2 θ + cot2 θ + k,

https://dl.doubtnut.com/l/_SsXc5nuazZGa
https://dl.doubtnut.com/l/_Rkb4PAufyr1t


D. 7

Answer: D

Watch Video Solution

17. If : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin4 θ + cos4 θ + sin2 θ ⋅ cos2 θ = 1 − u2, then: u =

sin θ ⋅ cos θ

secθ ⋅ cscθ

secθ ⋅ tan θ

cscθ ⋅ cot θ

18. If : (sin θ + cos θ)(1 − sin θ ⋅ cos θ) = sinn θ + cosn θ, then: n =

https://dl.doubtnut.com/l/_Rkb4PAufyr1t
https://dl.doubtnut.com/l/_FZMCihyYgeCa
https://dl.doubtnut.com/l/_VBP7FbLmkkwD


A. 0

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

19. If : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin6 θ + cos6 θ = 1 − 3u2 + 3u4, then: u =

secθ

tan θ

sin θ

cos θ

https://dl.doubtnut.com/l/_VBP7FbLmkkwD
https://dl.doubtnut.com/l/_kAVqzj3blajQ


20. If  is equal to

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

sin θ + sin2 θ = 1  then cos2 θ + cos4 θ

21. if : 

A. p

B. 

C. 

p ⋅ cos θ = √p2 + q2. sin θ, then: q ⋅ sin θ =

√p2 − q2

√p2 + q2. cos θ

https://dl.doubtnut.com/l/_kAVqzj3blajQ
https://dl.doubtnut.com/l/_t7GHSFLWkTXd
https://dl.doubtnut.com/l/_sunzQ8lDon0X


D. none of theses

Answer: A

Watch Video Solution

22. If : 

A. 1

B. -1

C. 

D. none of these

Answer: C

Watch Video Solution

cos θ + sin θ = 1, then: cos θ − sin θ

±1

23. If : sin θ = √3 ⋅ cos θ, then: 2(sin θ + cos θ) − 1 =

https://dl.doubtnut.com/l/_sunzQ8lDon0X
https://dl.doubtnut.com/l/_pzFkssQs85BD
https://dl.doubtnut.com/l/_qsn1Bc2v2F5U


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3

√2

√1

√0

24. If : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos θ − sin θ = √2. sin θ, then: cos θ + sin θ =

√2 ⋅ cscθ

√2 ⋅ secθ

√2 ⋅ cos θ

√2 ⋅ tan θ

https://dl.doubtnut.com/l/_qsn1Bc2v2F5U
https://dl.doubtnut.com/l/_AAjxFJ3HyfsV


25. If : 

A. -1

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

sin2 θ + sin4 θ = 1, then: tan4 θ − tan2 θ =

26. If : 

A. -1

B. 1

C. 2

sin2 θ + sin4 θ = 1, then: cot2 θ + cot4 θ =

https://dl.doubtnut.com/l/_AAjxFJ3HyfsV
https://dl.doubtnut.com/l/_UfVbMxwjXgDk
https://dl.doubtnut.com/l/_LuXS6eHfFkey


D. 4

Answer: B

Watch Video Solution

27. If : 

A. 1

B. 

C. -1

D. 

Answer: D

Watch Video Solution

secθ + cos θ = 2then: sec2 θ − sec4 θ =

cos2 θ + cos4 θ

cos4 θ − cos2 θ

28. If : tan θ + cot θ = 2, then: tan2 θ − tan3 θ =

https://dl.doubtnut.com/l/_LuXS6eHfFkey
https://dl.doubtnut.com/l/_FFm5wlOxogFO
https://dl.doubtnut.com/l/_djcpZNMhOw7p


A. 

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

cot3 θ − cot2 θ

cot2 θ + cot3 θ

29. If : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos2 θ − sin2 θ = tan2 ϕ, then: cos2 ϕ − sin2 ϕ =

tan2 θ

sec2 θ

sin2 θ

cos2 θ

https://dl.doubtnut.com/l/_djcpZNMhOw7p
https://dl.doubtnut.com/l/_sripLIMIEBwk


30. If : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos2 θ − sin2 θ = tan2 α and cos θ ⋅ cosα = cos β, then: β =

π

3

π

4

π

5

π

6

31. If :  and :  then :

A. 

B. 

C. 

a ⋅ secα + b ⋅ tanα = m a tanα + b ⋅ secα = n,

a2 − b2 =

m2 + n2

m2 − n2

m2 − a2

https://dl.doubtnut.com/l/_sripLIMIEBwk
https://dl.doubtnut.com/l/_4caeSRHRjNF8
https://dl.doubtnut.com/l/_Vg3dQPxTMRob


D. 

Answer: B

Watch Video Solution

m2 − b2

32. If : 

A. -3

B. -2

C. -1

D. 0

Answer: C

Watch Video Solution

1 + sinα ⋅ sinβ − cosα ⋅ cos β = 0  then: tanα ⋅ cot β =

https://dl.doubtnut.com/l/_Vg3dQPxTMRob
https://dl.doubtnut.com/l/_XKCqjp5euvzo


33. If :

 


then one value of each side is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 − sinα)(1 − sinβ)(1 − sinγ) = (1 + sinα)(1 + sinβ)(1 + sinγ),

cosα ⋅ cos β ⋅ cos γ

sinα ⋅ sinβ ⋅ sinγ

secα ⋅ secβ ⋅ secγ

tanα ⋅ tanβ ⋅ tanγ

34. Given that:

Show that one of the values of each member of this equality is

(1 + cosα)(1 + cos β)(1 + cos γ) = (1 − cosα)(1 − cos β)(1 − cos γ),

sinα sinβ sinγ.

https://dl.doubtnut.com/l/_GAwikNcb2VIJ
https://dl.doubtnut.com/l/_0mQSML2ljGqj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cosα ⋅ cos β ⋅ cos γ

sinα ⋅ sinβ ⋅ sinγ

secα ⋅ secβ ⋅ secγ

tanα ⋅ tanβ ⋅ tanγ

35. If ,

then 

A. -3

B. -2

C. 0

D. 1

Answer: D

(secα + tanα)(secβ + tanβ)(secγ + tanγ) = tanα tanβ tanγ

(secα − tanα)(secβ − tanβ)(secγ − tanγ) =

https://dl.doubtnut.com/l/_0mQSML2ljGqj
https://dl.doubtnut.com/l/_nkf5sv0s8YwU


Watch Video Solution

36. If :

then the value of each side is

A. 1

B. 2

C. 3

D. none of these

Answer: A

View Text Solution

(cscα − cot α)(cscβ − cot β)(cscγ − cot γ) = (cscα + cot α)(cscβ + cot

37. If , then the value of  is equal to

A. 

tanα + cot α = a tan4 α + cot4 α

a4 + 4a2 + 2

https://dl.doubtnut.com/l/_nkf5sv0s8YwU
https://dl.doubtnut.com/l/_hR6Rvv7iUG3r
https://dl.doubtnut.com/l/_sFQbFSBkZZra


B. 

C. 

D. 

Answer: C

Watch Video Solution

a4 + 4a2 − 2

a4 − 4a2 + 2

a4 − 4a2 − 2

38. If A ,B, C are the angles of a triangle , then : 

A. 1

B. 2

C. 0

D. 3

Answer: B

Watch Video Solution

tan ⋅ tan + cos ⋅ csc =
A

2

B + C

2

A + B

2

C

2

https://dl.doubtnut.com/l/_sFQbFSBkZZra
https://dl.doubtnut.com/l/_H5lIkXMGmihK


39. If  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = r cosA cosB, y = r cosA sinB, z = r sinA

x2 + y2 + z2 =

r2(sin2 A + cos2 B)

r2(cos2 A + sin2 B)

r2

2r2

40. If  and 

then 

A. a-b

B. 

x = a cos2 θ + b sin2 θ (x − a)(b − x) = c2 ⋅ sin2 θ ⋅ cos2 θ

c =

a + b

https://dl.doubtnut.com/l/_H5lIkXMGmihK
https://dl.doubtnut.com/l/_uefOjhLNPmO5
https://dl.doubtnut.com/l/_5ic8IwUfI9pH


C. 

D. 

Answer: A

Watch Video Solution

a2 − b2

a2 + b2

41. If ,  and  are in G.P. then find cthe value of 

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

sinA cosA tanA

cot6 A − cot2 A

https://dl.doubtnut.com/l/_5ic8IwUfI9pH
https://dl.doubtnut.com/l/_29NbKDycSI1E
https://dl.doubtnut.com/l/_YngylxxZtSPD


42. If  and  then

A. sin 2A

B. cos 2A

C. sin 2B

D. cos 2B

Answer: B

Watch Video Solution

x = cos(A + B)cos(A − B) y = sin(A + B)sin(A − B)

x − y =

43. If  and 

 then 

A. 

B. 

C. 

x = sin( + A) ⋅ cos( + B)
π

3

π

3

y = cos( + A) ⋅ sin( + B)
π

3

π

3
x − y =

sin(A − B)

cos(A − B)

sin(A + B)

https://dl.doubtnut.com/l/_YngylxxZtSPD
https://dl.doubtnut.com/l/_EbFaqneYzhUW


D. 

Answer: A

Watch Video Solution

cos(A + B)

44. If  and 

 then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = tan( + A) + tan(B − )
π

4

π

4

y = tan( + A) ⋅ tan(B − )
π

4

π

4
=

x

1 − y

sin(A + B)

cos(A + B)

tan(A + B)

tan(A − B)

https://dl.doubtnut.com/l/_EbFaqneYzhUW
https://dl.doubtnut.com/l/_PmVvpj5PtkDI


45. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin(A + B) ⋅ sin(A − B) =

sin2 A − cos2 B

cos2 A − sin2 B

sin2 A − sin2 B

cos2 A − cos2 B

46.  (a)  (b)

(c)  (d)

A. 

B. 

C. 

D. 

cos(A + B) ⋅ cos(A − B) = sin2 A − cos2 B cos2 A − sin2 B

sin2 A − sin2 B cos2 A − cos2 B

sin2 A − cos2 B

cos2 A − sin2 B

sin2 A − sin2 B

cos2 A − cos2 B

https://dl.doubtnut.com/l/_fvF4NjTEAH00
https://dl.doubtnut.com/l/_SOIayx7aNW86


Answer: B

Watch Video Solution

47. Prove that .

A. sin A

B. cos A

C. csc A

D. sec A

Answer: D

Watch Video Solution

1 + tanA tan( ) = tanA cot( ) − 1 = secA
A

2

A

2

48. If :  then  (a) (2,3) (b)(3,4)

(c)(4,2) (d) (1,2)

= ( )
tan 3A + tanA

tan 3A − tanA

sin(mA)

sin(nA)
(m, n) =

https://dl.doubtnut.com/l/_SOIayx7aNW86
https://dl.doubtnut.com/l/_SHzf5lyMD4ar
https://dl.doubtnut.com/l/_zW9MozZaBO4j


A. (2,3)

B. (3,4)

C. (4,2)

D. (1,2)

Answer: C

Watch Video Solution

49. If :  

 then : x+y+z= (a)-1 (b)0 (c)sin(A+B+C) (d)

cos(A-B-C)

A. -1

B. 0

C. sin(A + B + C)

D. cos (A - B - C)

x ⋅ cosA ⋅ cosB = sin(A − B), y ⋅ cosB ⋅ cosC = sin(B − C),

z ⋅ cosC ⋅ cosA = sin(C − A),

https://dl.doubtnut.com/l/_zW9MozZaBO4j
https://dl.doubtnut.com/l/_ieYuTkWuC9mK


Answer: B

Watch Video Solution

50. If :  

 then : x+y+z=
 (a) sin(A-B-C) (b) cos(A-B-C) (c)0

(d)-1

A. sin (A-B-C)

B. cos (A-B-C)

C. 0

D. -1

Answer: C

Watch Video Solution

x = sin(B − C) ⋅ cosA, y = sin(C − A) ⋅ cosB,

z = sin(A − B) ⋅ cosC,

51. If :cos x ± sinx = √2 ⋅ cos(x ± α), then:α =

https://dl.doubtnut.com/l/_ieYuTkWuC9mK
https://dl.doubtnut.com/l/_sPh7OLEU0J32
https://dl.doubtnut.com/l/_V6zMVtukDQ1R


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

30∘

45∘

60∘

90∘

52. If : 
 A)  B)  C)

D)

A. 

B. 

C. 

D. 

Answer: A

cos x ± sinx = √2 ⋅ cos(x ± α), then:α = 45∘ 60∘ 90∘

150∘

45∘

60∘

90∘

150∘

https://dl.doubtnut.com/l/_V6zMVtukDQ1R
https://dl.doubtnut.com/l/_sM1L1fnfbOaf


Watch Video Solution

53. 

A. 

B. 

C. 1

D. 

Answer: C

Watch Video Solution

tan 20∘ + tan 25∘ + tan 20∘ tan 25∘ =

1

√2

−
1

√2

√2

54. 
A)  B)  C)  D)

A. 

B. 

C. 

tan 40∘ + 2 ⋅ tan 10∘ = tan 30∘ tan 50∘ tan 70∘ tan 90∘

tan 30∘

tan 50∘

tan 70∘

https://dl.doubtnut.com/l/_sM1L1fnfbOaf
https://dl.doubtnut.com/l/_TBrHWxk2ypsF
https://dl.doubtnut.com/l/_7prQ1TubJYsR


D. 

Answer: B

Watch Video Solution

tan 90∘

55. If : 
A) B) C)

D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin(x + ) = cos(x − ), then: tanx =
π

3

π

6
1/√3 −1/√3

√3 −√3

1/√3

−1/√3

√3

−√3

https://dl.doubtnut.com/l/_7prQ1TubJYsR
https://dl.doubtnut.com/l/_0f0y1tv4alN3


56. If : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin(θ − 30∘ ) + cos(θ − 60∘ ) = k ⋅ sin θ, then: k =

1/√3

−1/√3

√3

−√3

57. 

A. -1

B. 0

C. 

D. 

 cos  x +  cos (120∘ − x) +  cos  (120∘ + x) = 0

√3

1/√3

https://dl.doubtnut.com/l/_3T8hrrOvl7zN
https://dl.doubtnut.com/l/_1mO9O9qT6AJs


Answer: B

Watch Video Solution

58. 

A. -1

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

tan(45∘ + A)tan(45∘ − A) = 1

√2

59. 
A)1B)2C)3D)4

A. 1

tan 75∘ + tan 15∘ =

https://dl.doubtnut.com/l/_1mO9O9qT6AJs
https://dl.doubtnut.com/l/_6FPeyb3hbp2A
https://dl.doubtnut.com/l/_BGHJWUiaX1F7


B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

60. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 + tan θ ⋅ tan 2θ = 2 cscθ sec 2θ 2 secθ csc 2θ

2 cscθ

sec 2θ

2 secθ

csc 2θ

https://dl.doubtnut.com/l/_BGHJWUiaX1F7
https://dl.doubtnut.com/l/_83W5DSZu1CcD
https://dl.doubtnut.com/l/_6aVSlYqGGigW


61. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan 2θ ⋅ cot θ − 1 = 2 cscθ sec 2θ 2 secθ csc 2θ

2 cscθ

sec 2θ

2 secθ

csc 2θ

62. If : 

A. -1

B. 0

C. 3/4

D. 

A + B = 90∘ , and tanA = then: cot B =
3

4

√2

https://dl.doubtnut.com/l/_6aVSlYqGGigW
https://dl.doubtnut.com/l/_9Dt63bYlf5xY


Answer: C

Watch Video Solution

63. If : 
 A) B) C)

D)

A. 

B. 2 tan phi`

C. 

D. 

Answer: C

Watch Video Solution

sin(θ + ϕ) = 2 sin(θ − ϕ), then: tan θ = tanϕ 2 tanϕ

3 tanϕ 4 tanϕ

tanϕ

3 tanϕ

4 tanϕ

64. If  then : sin(x − 60∘ ) = 2. cos(x − 30∘ ), tanx = .... .

https://dl.doubtnut.com/l/_9Dt63bYlf5xY
https://dl.doubtnut.com/l/_oCVY8HdELHQE
https://dl.doubtnut.com/l/_ioSscbmYzpfM


A. 

B. -3

C. 

D. 

Answer: A

Watch Video Solution

−3√3

−√3

3 + √3

65. If : 


 A) B) C)

D)

A. a-b

B. a + b

C. c - d

D. c + d

a = tanx, b = tany,

c = √1 + a2, d = √1 + b2, then: cd ⋅ sin(x + y) = a − b a + b

c − d c + d

https://dl.doubtnut.com/l/_ioSscbmYzpfM
https://dl.doubtnut.com/l/_ghp42XYHmt6K


Answer: B

Watch Video Solution

66. 

A. 

B. 

C. 1

D. 0

Answer: C

Watch Video Solution

cos2( − θ) + cos2( + θ) = .... .
π

4

π

4

sin 2θ

cos 2θ

67. 

A. 

cot( ) + cot( ) + cos( ) + cos( )
π

12

3π

12

9π

12

11π

12

cos 2π

https://dl.doubtnut.com/l/_ghp42XYHmt6K
https://dl.doubtnut.com/l/_uS9Myz3i0AYY
https://dl.doubtnut.com/l/_ljpFwPsRRuW4


B. 

C. 

D. 

Answer: C

Watch Video Solution

cos π

cos
2

π

cos
5π

12

68. 

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

cot, . cot. + cot. cot. = ....
π

20

3π

12
7π
20

9π

20

https://dl.doubtnut.com/l/_ljpFwPsRRuW4
https://dl.doubtnut.com/l/_KzsR5vZKK6gt
https://dl.doubtnut.com/l/_ouLaHHFExOY2


69. Statement I : 

Statement II 

Statement III: 

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

+ + + = 2
sin2 π

8

sin2(3π)

8

sin2(5π)

8

sin2(7π)

8

+ + + cos2(7 ) = 2
cos2 π

8

cos2(3π)

8

cos2(5π)

8

π

8

+ + =
sin2 π

8
sin3π

8

sin2(5π)

8

sin2(7π)

8

3

2

70. If H is the orthocentre of f  then : 

A. sin A

B. sin B

C. sin C

ΔABC, sin(∠BHC) =

https://dl.doubtnut.com/l/_ouLaHHFExOY2
https://dl.doubtnut.com/l/_MmicowaLMQYD


D. cos B

Answer: A

Watch Video Solution

71. If H is the orthocentre of  then : 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ΔABC, cos(∠AHB) =

−cosA

−cosB

−cosC

−cosD

72. 
A) B) C) D)tan θ ⋅ (1 + cos 2θ) = 2 sin θ sin 2θ 2 cos θ cos 2θ

https://dl.doubtnut.com/l/_MmicowaLMQYD
https://dl.doubtnut.com/l/_3pHV2ajZhB8V
https://dl.doubtnut.com/l/_4eqiQwbWiEWv


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 sin θ

sin 2θ

2 cos θ

cos 2θ

73. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 + sec 2θ) ⋅ √sec2 θ − 1 = 2 secθ sec 2θ 2 tan θ tan 2θ

2 secθ

sec 2θ

2 tan θ

tan 2θ

https://dl.doubtnut.com/l/_4eqiQwbWiEWv
https://dl.doubtnut.com/l/_TV6WlRvHp8wy


74. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cscθ − 2 cos θ ⋅ cot 2θ = 2 sin θ sin 2θ 2 cos θ cos 2θ

2 sin θ

sin 2θ

2 cos θ

cos 2θ

75. If : 
A)sinB)cos C)tanD)cot

A. sin

B. cos

C. tan

= f( ). then: f ≡
1 + sin θ + cos θ

1 + sin θ − cos θ

θ

2

https://dl.doubtnut.com/l/_TV6WlRvHp8wy
https://dl.doubtnut.com/l/_Jtf5O0i03M4l
https://dl.doubtnut.com/l/_QWpuopwWdx6h


D. cot

Answer: D

Watch Video Solution

76.  is equal to

A. sin 2 A

B. cos 2 A

C. tan 2 A

D. cot 2 A

Answer: A

Watch Video Solution

1 − tan2(45∘ − A)

1 + tan2(45∘ − A)

77. 
A) B) C)1D)2− =
sin 3θ

sin θ

cos 3θ

cos θ
sin 2θ cos 4θ

https://dl.doubtnut.com/l/_QWpuopwWdx6h
https://dl.doubtnut.com/l/_KjWLP0PKOaMz
https://dl.doubtnut.com/l/_6zG2kF1N27IM


A. 

B. 

C. 1

D. 2

Answer: D

Watch Video Solution

sin 2θ

cos 4θ

78. 
A)  B)  C)1 D)2

A. 

B. 

C. 1

D. 2

Answer: A

Watch Video Solution

− =
sin 2θ

sin θ

cos 2θ

cos θ
secθ tan θ

secθ

tan θ

https://dl.doubtnut.com/l/_6zG2kF1N27IM
https://dl.doubtnut.com/l/_uBqJPRo5liEY


79. 
A) B) C)1D)2

A. 

B. 

C. 1

D. 2

Answer: D

Watch Video Solution

sin 2θ ⋅ (tan θ + cot θ) = secθ cscθ

secθ

cscθ

80. If  then 

A. sin

B. cos

C. tan

√ = f( − )
1 − sinx

1 + sinx

π

4
x

2
f =

https://dl.doubtnut.com/l/_uBqJPRo5liEY
https://dl.doubtnut.com/l/_Ix6uMFj5jazq
https://dl.doubtnut.com/l/_xN0BTsRs39F1


D. cot

Answer: C

Watch Video Solution

81. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot( ) − tan( ) =
A

2

A

2
2 sinA 2 cosA 2 tanA 2 cot A

2 sinA

2 cosA

2 tanA

2 cot A

82. 
A) B) C) D)8 sin θ ⋅ cos θ ⋅ cos 2θ ⋅ cos 4θ = sin 4θ sin 8θ sin 16θ cos 8θ

https://dl.doubtnut.com/l/_xN0BTsRs39F1
https://dl.doubtnut.com/l/_AxZRmSCcruJo
https://dl.doubtnut.com/l/_KEK78VyXMDTi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 4θ

sin 8θ

sin 16θ

cos 8θ

83. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4 sin θ ⋅ cos3 θ − 4 cos θ ⋅ sin3 θ = 4 cos θ cos 4θ 4 sin θ sin 4θ

4 cos θ

cos 4θ

4 sin θ

sin 4θ

https://dl.doubtnut.com/l/_KEK78VyXMDTi
https://dl.doubtnut.com/l/_2yN1nAIWH4GD


84. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 − 8 cos2 θ + 8 cos4 θ =

sin 4θ

cos 4θ

sin4 θ + cos4 θ

sin4 θ − cos4 θ

85. If 

 


then , the values of    are

A. 2,3,4

B. 3,4,5

cos 3A + cos 5A + cos 7A + cos 15A = 4 cosmA ⋅ cos nA ⋅ cos pA,

m, n, p

https://dl.doubtnut.com/l/_2yN1nAIWH4GD
https://dl.doubtnut.com/l/_W5ZyuibKbJ78
https://dl.doubtnut.com/l/_GmA3RchdBa6v


C. 4,5,6

D. 5,6,7

Answer: C

Watch Video Solution

86. If : 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 40∘ − cos 70∘ = k ⋅ cos 80∘ , then: k = √1 √2 √3 √4

√1

√2

√3

√4

https://dl.doubtnut.com/l/_GmA3RchdBa6v
https://dl.doubtnut.com/l/_7VkBugUJlgKP


87. 
A)-1B)0C) D)

A. -1

B. 0

C. 

D. 

Answer: B

Watch Video Solution

sin 50∘ − sin 70∘ + sin 10∘ sin 5∘ −sin 5∘

sin 5∘

−sin 5∘

88. 
 A) B) C)0D)none of

these

A. 

B. 

C. 0

D. none of these

cos 20∘ + cos 100∘ + cos 140∘ = cos 130∘ cos 45∘

cos 130∘

cos 45∘

https://dl.doubtnut.com/l/_nwcgs2PkUC3C
https://dl.doubtnut.com/l/_mRb5mZxMPaRq


Answer: C

Watch Video Solution

89. 
A)0B)1C) D)

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

cos 55∘ + cos 65∘ + cos 175∘ = sin 18∘ cos 36∘

sin 18∘

cos 36∘

90. 
 A) B)

C) D)

sin 10∘ + sin 20∘ + sin 40∘ + sin 50 = sin 15∘ + sin 75∘

cos 15∘ + cos 75∘ sin 70∘ + sin 80∘ cos 70∘ + cos 80∘

https://dl.doubtnut.com/l/_mRb5mZxMPaRq
https://dl.doubtnut.com/l/_n1Bll1IvPCjv
https://dl.doubtnut.com/l/_FgpKNMsEi4ep


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 15∘ + sin 75∘

cos 15∘ + cos 75∘

sin 70∘ + sin 80∘

cos 70∘ + cos 80∘

91. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 75∘ − sin 15∘

cos 75∘ + cos 15∘ −√3 √3
1

√3

1

√3

−√3

√3

−
1

√3

1

√3

https://dl.doubtnut.com/l/_FgpKNMsEi4ep
https://dl.doubtnut.com/l/_elkp4vN55Lwp


92. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 21∘ − sin 21∘

cos 21∘ + sin 21∘ tan 21∘ cot 66∘ tan 42∘ cot 42∘

tan 21∘

cot 66∘

tan 42∘

cot 42∘

93. 
A)  B) 

C) D)

A. 

B. 

C. 

sin 7θ ⋅ sin θ + sin 11θ ⋅ sin 3θ = sin 4θ ⋅ sin 10θ cos 4θ ⋅ cos 10θ

sin 8θ ⋅ sin 4θ cos 8θ ⋅ cos 14θ

sin 4θ ⋅ sin 10θ

cos 4θ ⋅ cos 10θ

sin 8θ ⋅ sin 4θ

https://dl.doubtnut.com/l/_elkp4vN55Lwp
https://dl.doubtnut.com/l/_Xdoom0Vp9gAQ
https://dl.doubtnut.com/l/_Pn4ljeFXNksw


D. 

Answer: A

Watch Video Solution

cos 8θ ⋅ cos 14θ

94. 
A) B) C) D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

16 ⋅ cos ⋅ cos ⋅ cos =
π

12
4π
12

5π

12
√1 √2 √3 √4

√1

√2

√3

√4

https://dl.doubtnut.com/l/_Pn4ljeFXNksw
https://dl.doubtnut.com/l/_GlYUrr4jamlt


95. If : 
 A)

 B)  C)  D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + B + C = π, then: sin 2A + sin 2B − sin 2C =

4 sinA ⋅ cosB ⋅ cosC 4 sinB ⋅ sinC ⋅ cosA 4 sinC ⋅ cosA ⋅ cosB

4 sinA ⋅ sinB ⋅ sinC

4 sinA ⋅ cosB ⋅ cosC

4 sinB ⋅ sinC ⋅ cosA

4 sinC ⋅ cosA ⋅ cosB

4 sinA ⋅ sinB ⋅ sinC

96. If  then 

A. 

B. 

C. 

A + B + C = π sin 2A + sin 2B + sin 2C =

4 sinA ⋅ sinB ⋅ cosC

4 sinB ⋅ sinC ⋅ cosA

4 sinC ⋅ sinA ⋅ cosB

https://dl.doubtnut.com/l/_JdQtuWxuj1zO
https://dl.doubtnut.com/l/_QCcEBlvhfPWg


D. 

Answer: A

Watch Video Solution

4 sinA ⋅ sinB ⋅ sinC

97. If : 
 A)

 B)  C)

D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A + B + C = π, then: 1 − cos2 A − cos2 B − cos2 C =

2 cosA ⋅ cosB ⋅ cosC 2 sinA ⋅ cosB ⋅ cosC 2 cosA ⋅ sinB ⋅ cosC

2 cosA ⋅ cosB ⋅ sinC

2 cosA ⋅ cosB ⋅ cosC

2 sinA ⋅ cosB ⋅ cosC

2 cosA ⋅ sinB ⋅ cosC

2 cosA ⋅ cosB ⋅ sinC

https://dl.doubtnut.com/l/_QCcEBlvhfPWg
https://dl.doubtnut.com/l/_mplWaVN5weYV
https://dl.doubtnut.com/l/_35lBiJbaqxPa


98. If : 
 A)

 B)  C)  D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + B + C = π, then  sin2 A + sin2 B − sin2 C =

2 cosA ⋅ cosB ⋅ sinC 2 cosB ⋅ cosC ⋅ sinA 2 sinA ⋅ sinB ⋅ cosC

2 sinB ⋅ sinC ⋅ cosA

2 cosA ⋅ cosB ⋅ sinC

2 cosB ⋅ cosC ⋅ sinA

2 sinA ⋅ sinB ⋅ cosC

2 sinB ⋅ sinC ⋅ cosA

99. If : A+B+C=  
 A)

B)  C)

 D)

A. 

B. 

π then: 1 − sin2 − sin2 + sin2 =
A

2
B

2

C

2

2 cos ⋅ cos sin2 + sin2A

2

B

2

C

2
2 cos ⋅ cos ⋅ sin

B

2

B

2

C

2

2 cos ⋅ cos ⋅ sin
C

2
A

2
B

2
2 cos ⋅ cos ⋅ sin

A

2
B

2
C

2

2 cos ⋅ cos sin2 + sin2A

2
B

2
C

2

2 cos ⋅ cos ⋅ sin
B

2
B

2
C

2

https://dl.doubtnut.com/l/_35lBiJbaqxPa
https://dl.doubtnut.com/l/_YxwFBCDomMJ5


C. 

D. 

Answer: D

Watch Video Solution

2 cos ⋅ cos ⋅ sin
C

2

A

2
B

2

2 cos ⋅ cos ⋅ sin
A

2
B

2

C

2

100. 
A)1 B)0 C) D) 2

A. 1

B. 0

C. -1

D. 2

Answer: A

Watch Video Solution

(cscθ − sin θ)(secθ − cos θ)(tan θ + cot θ) = −1

https://dl.doubtnut.com/l/_YxwFBCDomMJ5
https://dl.doubtnut.com/l/_fmdOqLLRcpRx


101. 
 A)

B)  C)  D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 2A + sin 2B + sin 2(A − B) = 4 sinA ⋅ sinB ⋅ sin(A − B)

4 sinA ⋅ cosB ⋅ cos(A − B) 4 cosA ⋅ sinB ⋅ cos(A − B)

4 cosA ⋅ cosB ⋅ sin(A − B)

4 sinA ⋅ sinB ⋅ sin(A − B)

4 sinA ⋅ cosB ⋅ cos(A − B)

4 cosA ⋅ sinB ⋅ cos(A − B)

4 cosA ⋅ cosB ⋅ sin(A − B)

102. 

A. 

B. 

C. 

4 cosA ⋅ cosB ⋅ sin(A − B)

4 cosA ⋅ cosB ⋅ cos(A − B)

4 sinA ⋅ sinB ⋅ sin(A − B)

4 sinA ⋅ cosB ⋅ sin(A − B)

https://dl.doubtnut.com/l/_UKJ1aTj17pqC
https://dl.doubtnut.com/l/_Z3l6ZoVnxo52


D. 

Answer: A

View Text Solution

4 cosA ⋅ sinB ⋅ cos(A − B)

103. 
 A)  B)

 C)  D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2 A ⋅ tan2 A + cos2 A ⋅ cot2 A = 1 + tan2 A + cot2 A

tan2 A + cot2 A − 1 1 + sec2 A + tan2 A 1 + csc2 A + cot2 A

1 + tan2 A + cot2 A

tan2 A + cot2 A − 1

1 + sec2 A + tan2 A

1 + csc2 A + cot2 A

https://dl.doubtnut.com/l/_Z3l6ZoVnxo52
https://dl.doubtnut.com/l/_luZzU4ea8Ezh


104. 
 A)  B)

C)  D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√tan4 A + cot4 A + 2 = 1 + sec2 A + csc2 A

sec2 A + csc2 A + 2 sec2 A + csc2 A − 2 3 − sec2 A ⋅ csc2 A

1 + sec2 A + csc2 A

sec2 A + csc2 A + 2

sec2 A + csc2 A − 2

3 − sec2 A ⋅ csc2 A

105. If :

A)1 B)2 C)3 D)4

A. 1

B. 2

secθ ⋅ tan θ(secθ + tan θ) + (secθ − tan θ) = secn θ + tann θ, then: n =

https://dl.doubtnut.com/l/_l8xrCmvLpjuM
https://dl.doubtnut.com/l/_f0oH6GMYGDut


C. 3

D. 4

Answer: C

Watch Video Solution

106. If : 

A. (1,2)

B. (2,3)

C. (3,4)

D. (4,5)

Answer: C

View Text Solution

4(sin 3θ ⋅ cos3 θ ⋅ 3θ ⋅ sin3 θ) = m ⋅ sin(nθ), then: (m, n) ≡

https://dl.doubtnut.com/l/_f0oH6GMYGDut
https://dl.doubtnut.com/l/_lr58pIsymbDk


107. If : 
A)  B)m

= n ] C)  D)

A. 

B. m = n ]

C. 

D. 

Answer: B

Watch Video Solution

tan( + θ) − tan( − θ) = m ⋅ tan(nθ), then
π

4

π

4
m < n

m > n mn < n

m < n

m > n

mn < n

108. If  then the value of (s) of 

is(are)

A. 

B. 

C. 

tan(π cos θ) = cot(π sin θ) cos(θ − )
π

4

1

2

−
1

√2

−
1

2√2

https://dl.doubtnut.com/l/_hXxQhk0cm85y
https://dl.doubtnut.com/l/_edegafesgQ8l


D. 

Answer: D

Watch Video Solution

1

2√2

109. If :  A)  B)0 C)  D)

A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

sinA + cosA = 1, then: sinA − cosA = ±1 ±2 ±3

±1

±2

±3

https://dl.doubtnut.com/l/_edegafesgQ8l
https://dl.doubtnut.com/l/_TMRRQR8BVT2P


110. If :  A)  B)  C)  D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin2( + ) − cos2( + ) =
π

4

θ

2

π

4

θ

2
sin θ cos θ sin 2θ

cos 2θ

sin θ

cos θ

sin 2θ

cos 2θ

111. If :  A)  B)  C)a

D)b

A. 

B. 

C. a

cot θ = , then: a ⋅ cos 2θ + b ⋅ sin 2θ =
a

b
a2 + b2 a2 − b2

a2 + b2

a2 − b2

https://dl.doubtnut.com/l/_ZVIwJ3KvJv3X
https://dl.doubtnut.com/l/_lvank8hXsy1u


D. b

Answer: C

Watch Video Solution

112. If : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx + cos x = sin 2x + cos 2x, where0 < x ≤ , then x :=
π

2

π

2

π

3

π

4

π

6

113. If 
, then cos ecθ + cot θ =
11

2
tanθ =

https://dl.doubtnut.com/l/_lvank8hXsy1u
https://dl.doubtnut.com/l/_8NQOErIiZjUe
https://dl.doubtnut.com/l/_x7ILBG9a4P5F


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

21

22

15

16

44
117

117
44

114.  is equal to

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos(540∘ − θ) − sin(630∘ − θ)

2 cos θ

2 sin θ

sin θ + cos θ

https://dl.doubtnut.com/l/_x7ILBG9a4P5F
https://dl.doubtnut.com/l/_vZlkfyjkP6B2


115. If :  A)  B)

 C)  D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = tan 25∘ , then: =
tan 155∘ − tan 115∘

1 + tan 155∘ ⋅ tan 115∘

1 − x2

2x
1 + x2

2x
1 + x2

1 − x2

1 − x2

1 + x2

1 − x2

2x

1 + x2

2x

1 + x2

1 − x2

1 − x2

1 + x2

116. If `sin(120^0-alpha)=sin(120^0-beta),0

A. 

B. 

C. 

α + β =
π

3

α = β or α + β =
π

3

α = β

https://dl.doubtnut.com/l/_vZlkfyjkP6B2
https://dl.doubtnut.com/l/_Q2roH5HzioNU
https://dl.doubtnut.com/l/_5E0W0tfYSz8y


D. 

Answer: B

Watch Video Solution

α + β = 0

117. If :  A)1 B)3 C)4 D)5

A. 1

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

3 sin 2θ = 5 + 4 cos 2θ, then: tan θ =

118. + =
cos 3θ

cos3 θ

sin 3θ

sin3 θ

https://dl.doubtnut.com/l/_5E0W0tfYSz8y
https://dl.doubtnut.com/l/_iqU1PcR4d0V4
https://dl.doubtnut.com/l/_4mJSqAeEsho4


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3 cos ec2θ ⋅ cos 2θ

3 cos ec2θ ⋅ cot 2θ

12 cos ec2θ ⋅ cot 2θ

119.  is equal to-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan2(2θ) − tan2 θ

1 − tan2(2θ)tan2 θ

tan θ ⋅ tan 2θ

tan θ ⋅ tan 3θ

tan 2θ ⋅ tan 3θ

tan θ ⋅ tan 4θ

https://dl.doubtnut.com/l/_4mJSqAeEsho4
https://dl.doubtnut.com/l/_sNgTochZXOSd


120. If :  A)  B)

 C)  D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p = cot 20∘ , then: =
tan 160∘ − tan 110∘

1 + tan 160∘ ⋅ tan 110∘

p2 − 1

2p
p2 + 1

2p

1 − p2

2p

2p

1 + p2

p2 − 1

2p

p2 + 1

2p

1 − p2

2p

2p

1 + p2

121. If 
 are angles of a cyclic quadrilateral, then prove that 

A. 

B. 

A, B, C, D

cosA + cosB + cosC + cosD = 0

2(cosA + cosC)

2(cosA + cosB)

https://dl.doubtnut.com/l/_sNgTochZXOSd
https://dl.doubtnut.com/l/_2Ng5OdkAO2Jt
https://dl.doubtnut.com/l/_GJIudaNHQKgr


C. 

D. 0'

Answer: D

Watch Video Solution

2(cosA + cosD)

122. If  , then show that .

A. 

B. 

C. ab

D. none of these.

Answer: B

Watch Video Solution

=
sin(x + y)

sin(x − y)

a + b

a − b
=

tanx

tany
a

b

b

a

a

b

https://dl.doubtnut.com/l/_GJIudaNHQKgr
https://dl.doubtnut.com/l/_8Hf9cKhNErNo


123. If `pi

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 cscα

−2 cscα

cscα

−cscα

124. If , then  is equal to

A. 

B. 

C. 

D. 

cot(α + β) = 0 sin(α + 2β)

−sinα

sinβ

cosα

cosα

https://dl.doubtnut.com/l/_wEl0G7rH1bSI
https://dl.doubtnut.com/l/_oOtBR4KDVziA


Answer: D

Watch Video Solution

125. If :  A)  B)  C)

D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cscθ − cot θ = p, then: cscθ = θ +
1

p
θ −

1

p
(p + )

1

2

1

p

(p − )
1

2

1

p

θ +
1

p

θ −
1

p

(p + )
1

2

1

p

(p − )
1

2

1

p

126. If :  ltbr gt 

 A)  B)  C)1 D)-1

cos θ1 = 2 ⋅ cos θ2,

then(tan )(tan ) =
θ1 − θ2

2
θ1 + θ2

2

1

3
−

1

3

https://dl.doubtnut.com/l/_oOtBR4KDVziA
https://dl.doubtnut.com/l/_08z0QbG3Z8l3
https://dl.doubtnut.com/l/_aakHF9QZhQjd


A. 

B. 

C. 1

D. -1

Answer: B

Watch Video Solution

1

3

−
1

3

127. If 
 where 
 then 


is equal to
9 (b) 4
(c) 27 (d) 81

A. 9

B. 4

C. 27

D. 81

Answer: C

y = (1 + tanA)(1 − tanB), A − B = ,
π

4

(y + 1)y− 1

https://dl.doubtnut.com/l/_aakHF9QZhQjd
https://dl.doubtnut.com/l/_00ZVxk9mrKHR


Watch Video Solution

128. If :  is A)scalane

B)equilateral C)isosceles D)right angled

A. scalane

B. equilateral

C. isosceles

D. right angled

Answer: D

Watch Video Solution

cos2 A + cos2 B + cos2 C = 1, then: ΔABC

129. If :  A)  B)

C)  D)

A. 

sec 2θ = p + tan 2θ, then: sin2 θ =
(p − 1)

2

2(p2 + 1)
( )

2
1

2

p − 1

p + 1

p2 − 1

2(p2 + 1)

p2 − 1

2(p + 1)
2

(p − 1)2

2(p2 + 1)

https://dl.doubtnut.com/l/_00ZVxk9mrKHR
https://dl.doubtnut.com/l/_E7bFgvQ41Ehf
https://dl.doubtnut.com/l/_ATERKho0nHXB


B. 

C. 

D. 

Answer: A

Watch Video Solution

( )
2

1
2

p − 1

p + 1

p2 − 1

2(p2 + 1)

p2 − 1

2(p + 1)
2

130. If :  A)  B)  C)

D)none of these.

A. 

B. 

C. 

D. none of these.

Answer: D

Watch Video Solution

sin θ = , then: cot θ =
a2 − b2

a2 + b2

4a2b2

a2 − b2

a2 + b2

a2 − b2

4a2b2

a2 + b2

4a2b2

a2 − b2

a2 + b2

a2 − b2

4a2b2

a2 + b2

https://dl.doubtnut.com/l/_ATERKho0nHXB
https://dl.doubtnut.com/l/_byI7rkGQyAmc


131. If :  A)  B)

 C)  D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cot θ = , then: cos θ =
2x(x + 1)

2x + 1

2x + 1

2x2 + 2x + 1
2x

2x2 + 2x + 1

2x(x + 1)

2x2 + 2x + 1

x + 1

2x + 1

2x + 1

2x2 + 2x + 1

2x

2x2 + 2x + 1

2x(x + 1)

2x2 + 2x + 1

x + 1

2x + 1

132. If :  A)4 B)3

C)2 D)1

A. 4

B. 3

2(sin6 θ + cos6 θ) + 1 = 3(sinn θ + cosn θ), then: n =

https://dl.doubtnut.com/l/_byI7rkGQyAmc
https://dl.doubtnut.com/l/_RmDE7A3lWpcx
https://dl.doubtnut.com/l/_WK6xjbDlSJSU


C. 2

D. 1

Answer: A

Watch Video Solution

133. If :  A)  B)  C)

D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + 4p2 = 4p ⋅ secθ, then: secθ + tan θ = ±2p ±
1

2p
(2p)

2p +
1

2p

±2p

±
1

2p

(2p)

2p +
1

2p

https://dl.doubtnut.com/l/_WK6xjbDlSJSU
https://dl.doubtnut.com/l/_ZUjMJ3fyPS2s
https://dl.doubtnut.com/l/_cao0I9mhHykR


134. If  and  then sinf  and 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

secθ − tan θ = x secθ + tan θ =
1

x
sin θ cos θ

1 + x2

1 − x2

1 − x2

1 + x2

x2 +
1

x2

1 − x2

1 + x2

135. If : A)  B)

C)  D)

A. 

B. 

C. 

D. 

a sec2 θ − b ⋅ tan2 θ = c, then = sin θ = √
a + c

b + c
√

a − c

b − c

√
a − c

b + c
√

a + c

b − c

√
a + c

b + c

√
a − c

b − c

√
a − c

b + c

√
a + c

b − c

https://dl.doubtnut.com/l/_cao0I9mhHykR
https://dl.doubtnut.com/l/_d0D7hw5vQUyq


Answer: B

Watch Video Solution

136. If : A)

 B)  C)  D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a ⋅ cosA − b ⋅ sinA = c, then: a ⋅ sinA + b ⋅ cosA =

√a2 + b2 − c2 √a2 − b2 + c2 √b2 + c2 − a2 √b2 + c2 + a2

√a2 + b2 − c2

√a2 − b2 + c2

√b2 + c2 − a2

√b2 + c2 + a2

137. if  then tanx =
b

a
√ + √ =

a + b

a − b

a − b

a + b

https://dl.doubtnut.com/l/_d0D7hw5vQUyq
https://dl.doubtnut.com/l/_0fu1U6iT3alm
https://dl.doubtnut.com/l/_7AZwRs3axabo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 sinx

√cos 2x

2 cos x

√sin 2x

2 sinx

√cos 2x

2 cos x

√sin 2x

138. If  are in A.P then 

A. tan A

B. cot A

C. tan B

D. cot B

Answer: D

Watch Video Solution

A, B, C =
sinA − sinC

cosC − cosA

https://dl.doubtnut.com/l/_7AZwRs3axabo
https://dl.doubtnut.com/l/_vKu0mm1dYhKr


139. If  then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ = (x + )
1

2

1

x
(x2 + )

1

2

1

x2

sin 2θ

cos 2θ

sec 2θ

tan 2θ

140. If : 

 A)-1 B)0 C)1 D)2

A. -1

B. 0

C. 1

sin(α + β) = 1 and sin(α − β) = ,
1

2

then: tan(α + 2β) ⋅ tan(2α + β) =

https://dl.doubtnut.com/l/_vKu0mm1dYhKr
https://dl.doubtnut.com/l/_lSv0XJtmM1wq
https://dl.doubtnut.com/l/_F4Regc3aoGVH


D. 2

Answer: C

Watch Video Solution

141. If 
 then 
 is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 250 + sin 250 = p, cos 500 √2 − p2 −√2 − p2

p√2 − p2 −p√2 − p2

√2 − p2

−√2 − p2

p ⋅ √2 − p2

−p ⋅ √2 − p2

https://dl.doubtnut.com/l/_F4Regc3aoGVH
https://dl.doubtnut.com/l/_VVwNKhC4EyIj


142. The numerical value of A)

 B)  C) D)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cot2 30∘ − 2 csc2 60∘ − tan2 30∘ =
4
3

3

4

11/16 16/11 13/12 6/11

11/16

16/11

13/12

6/11

143. The numerical value of A)3 B)4 C)5 D)6

A. 3

B. 4

C. 5

D. 6

3 csc2 + 4 sin2 =
π

3

π

4

https://dl.doubtnut.com/l/_a7It5LyPyC17
https://dl.doubtnut.com/l/_X7hLdZuQnPSH


Answer: D

Watch Video Solution

144. A)  B)  C)

 D)none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

tan 60∘ + sec 60∘ − 1

tan 60∘ − sec 60∘ + 1
sec 30∘ + 2cos 60∘ csc 30∘ + 2sin 60∘

cot 30∘ + 2tan 60∘

sec 30∘ + 2cos 60∘

csc 30∘ + 2sin 60∘

cot 30∘ + 2tan 60∘

145. If  is an acute angle such that

 then: `theta=

θ

4 sin2 θ − 2(√3 + 1)sin θ + √3 = 0,

https://dl.doubtnut.com/l/_X7hLdZuQnPSH
https://dl.doubtnut.com/l/_4zMH3AYjqHXl
https://dl.doubtnut.com/l/_5FH1HEDlbihw


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

30∘ or 60∘

45∘ or 90∘

0∘ or 180∘

146. If  is an acute angle such that

A)  B)  C)  D)

A. 

B. 

C. 

D. 

Answer: B

θ

2 sin2 θ − 2√2 ⋅ sin θ + 1 = 0, then: θ = 30∘ 45∘ 60∘ 90∘

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_5FH1HEDlbihw
https://dl.doubtnut.com/l/_WpeiIhbA4DhK


Watch Video Solution

147. If A and B are acute angles such that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot(A + B) = 1 and cos ec(A − B) = 2, then: (A, B) ≡

(37.5∘ , 7.5∘ )

(30∘ , 45∘ )

(30.5∘ , 17.5∘ )

(0∘ , 45∘ )

148. If A and B are acute angles such that

A)

B)  C)  D)

2 cosA ⋅ cot B − 2 cosA − cot B + 1 = 0, then: (A, B) ≡ (45∘ , 60∘ )

(60∘ , 45∘ ) (30∘ , 60∘ ) (45∘ , 30∘ )

https://dl.doubtnut.com/l/_WpeiIhbA4DhK
https://dl.doubtnut.com/l/_lLNR6TMuYGBB
https://dl.doubtnut.com/l/_sRP9X2aaIETp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(45∘ , 60∘ )

(60∘ , 45∘ )

(30∘ , 60∘ )

(45∘ , 30∘ )

149. Find the acute angle A and B such that 

A. 

B. 

C. 

D. 

Answer: A

secA ⋅ tanB − secA − 2 tanB + 2 = 0.

(60∘ , 45∘ )

(45∘ , 30∘ )

(30∘ , 45∘ )

(30∘ , 60∘ )

https://dl.doubtnut.com/l/_sRP9X2aaIETp
https://dl.doubtnut.com/l/_0QBHkmARPRlM


Watch Video Solution

150. If 

A. 

B. 

C. 

D. 2

Answer: C

Watch Video Solution

tan2 θ − 4√3 ⋅ tan θ + 3 = 0, then: tan θ =

√2

1/√2

1/√3

151. prove that: 

A. 

B. 

C. 13

sin2 30∘ + sin2 45∘ + sin2 60∘ =
3

2

2/3

3/2

https://dl.doubtnut.com/l/_0QBHkmARPRlM
https://dl.doubtnut.com/l/_nBELGcWT8Nzg
https://dl.doubtnut.com/l/_qezNyKmPBw7v


D. 

Answer: B

Watch Video Solution

3/4

152. prove that: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 cot2(45∘ ) − sec2(60∘ ) + sin2(30∘ ) =
1

8

(1/2)

(1/2)2

(1/2)3

(1/2)4

153. A)-1 B)0 C)1 D)2[(1 − tan2 30∘ ) ÷ (1 + tan2 30∘ )] − sin 30∘ =

https://dl.doubtnut.com/l/_qezNyKmPBw7v
https://dl.doubtnut.com/l/_Ok9z7qKMidPV
https://dl.doubtnut.com/l/_gyHZyZLCY0d5


A. -1

B. 0

C. 1

D. 2

Answer: B

Watch Video Solution

154. A)  B)  C)

 D)

A. 

B. 

C. 

D. 

Answer: B

2sin 60∘ − cos 180∘ + (1/3)sin 270∘ = √2 +
3

2
√3 +

2

3

√2 −
3

2
√3 −

2

3

√2 +
3

2

√3 +
2

3

√2 −
3

2

√3 −
2

3

https://dl.doubtnut.com/l/_gyHZyZLCY0d5
https://dl.doubtnut.com/l/_W4D6mXqm8IZU


Watch Video Solution

155. If  

A)  B)  C)  D)none of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

cos θ = − 3/5, whereπ < θ < (3π/2), then: =
csscθ + cot θ

secθ − tan θ

1/4 1/5 1/6

1/4

1/5

1/6

156. If  A)  B)

 C)  D)-6

A. 

sin θ = 3/5, where(π/2) < θ < π, then:
secθ − tan θ

cscθ + cot θ
−

3

2
2

3

3

2

−3/2

https://dl.doubtnut.com/l/_W4D6mXqm8IZU
https://dl.doubtnut.com/l/_EOJhrQuaHIWY
https://dl.doubtnut.com/l/_XKo3wg8yB9wi


B. 

C. 

D. -6

Answer: A

Watch Video Solution

2/3

3/2

157. If ,then 

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

tan θ =
1

√7
= ?

cosec2θ − sec2 θ

cosec2θ + sec2 θ

3/4

2/3

1/2

https://dl.doubtnut.com/l/_XKo3wg8yB9wi
https://dl.doubtnut.com/l/_ywQyBbsLipWI
https://dl.doubtnut.com/l/_MNA7p40SkGp8


158. If  

A)  B)  C)  D)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinA = 11/61, where0 < A < (π/2), then : =
secA + tanA

cot A − cscA

66/13 −13/66 −66/15 −66/5

66/13

−13/66

−66/15

−66/5

159. If  is not is the second quadrant, then : csc  =

A)  B)  C)  D)

A. 

B. 

C. 

tan θ = − 4/5 and θ θ

−√41/51 −√41/4 −51√41 √41/5

−√41/51

−√41/4

−51√41

https://dl.doubtnut.com/l/_MNA7p40SkGp8
https://dl.doubtnut.com/l/_dFDLro1IwAsM


D. 

Answer: B

Watch Video Solution

√41/5

160. If 

A)5 B)6 C)7 D)8

A. 5

B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

cos θ = − 1/2 and π < θ < (3π/2),

then: 4 tan2 θ − 3 cos ec2θ =

https://dl.doubtnut.com/l/_dFDLro1IwAsM
https://dl.doubtnut.com/l/_49iKkpIAlVhk


161. If  then find the value of 

A. -1

B. 0

C. 1

D. 

Answer: A

Watch Video Solution

secθ = √2, ( ) < θ < 2π
3π

2
1 + tan θ + cos ecθ

1 + cot θ − cos ecθ

1 + √2

162. If 

A)3.7 B)4.7 C)5.7 D)6.7

A. 3.7

B. 4.7

C. 5.7

3 tanα = 4 and 180∘ < α < 270∘ ,

then: 2 cot α − 5 cosα + sinα =

https://dl.doubtnut.com/l/_alInS2JMVCHt
https://dl.doubtnut.com/l/_1GTrFpg3jbzX


D. 6.7

Answer: A

Watch Video Solution

163. If  


evaluate : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ = 4/5, whereπ/2 < θ < π,

secθ + tan θ

cos ecθ − cot θ

2/3

−1
1

2

−3/4

−1
1

3

https://dl.doubtnut.com/l/_1GTrFpg3jbzX
https://dl.doubtnut.com/l/_yIkfgVF1Jpgn


164. If  is not in the second quadrant, find the

values of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ = − 3/5 and θ

secθ and cos ecθ.

√34/5

−√34/5

√43/5

−√43/5

165. If A)18 B)9 C)4

D)

A. 18

B. 9

C. 4

x = sin2 θ + 3 cos θ − 2 = 0, then: cos3 θ + sec3 θ =

1/4

https://dl.doubtnut.com/l/_u3oZDhHNWyBj
https://dl.doubtnut.com/l/_BzVWJND9Mn65


D. 

Answer: A

Watch Video Solution

1/4

166. If 

A. 

B. 

C. `x^(2)+y^(2)+x^(2)y^(2)=1'

D. none of these

Answer: B

Watch Video Solution

x = sin2 θ ⋅ cos θ and y = sin θ cos2 θ, then:

(x2y)
2 / 3

+ (xy2)
2 / 3

= 1

( )
2 / 3

+ ( )
2 / 3

= 1
x2

y

y2

x

https://dl.doubtnut.com/l/_BzVWJND9Mn65
https://dl.doubtnut.com/l/_EhgFzBZ8uTNA


167. If  A)

 B)  C)  D)none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sinx + cos x = √2 ⋅ cosx, then : cos x − sinx = ......

√2 ⋅ cos x √2 ⋅ sinx √2 ⋅ (cos x + sinx)

√2 ⋅ cos x

√2 ⋅ sinx

√2 ⋅ (cos x + sinx)

168. If  then x=

A. 2

B. 4

C. 8

xsin 45∘ cos2(60∘ ) = ,
tan2(60∘ )cos ec30∘

sec 45∘ cot2(30∘ )

https://dl.doubtnut.com/l/_bl63ePjMhct4
https://dl.doubtnut.com/l/_hKorQstVOgET


D. 16

Answer: D

Watch Video Solution

169. If A)110 B)191 C)80

D)194

A. 110

B. 191

C. 80

D. 194

Answer: D

Watch Video Solution

tanx + cot x = 4, then: tan4 x + cot4 x = ......

https://dl.doubtnut.com/l/_hKorQstVOgET
https://dl.doubtnut.com/l/_ygYf9vue0WhQ


170. If A)  B)  C)

D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 sinx + 5 cos x = 5, then: 5 sinx − 3 cos x.... ±2 ±3 ±4

±5

±2

±3

±4

±5

171. If  then show that 

A. 

B. 

C. 

tanx =
a

b
=

a sinx − b cos x

a sinx + b cos x

a2 − b2

a2 + b2

a2 + b2

a2 − b2

2a2 − b2

a2 + 2b2

a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_6r0OLoJ7ayfx
https://dl.doubtnut.com/l/_T9PGlwFiAD3j


D. none of these

Answer: C

Watch Video Solution

172. If  then 

A. -1

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

sinx + sin2 x = 1 cos2 x + cos4 x

173. For any real , θ (cscθ − sin θ)(secθ − cos θ)(tan θ + cot θ) = ......

https://dl.doubtnut.com/l/_T9PGlwFiAD3j
https://dl.doubtnut.com/l/_vHn6TSGW3YOa
https://dl.doubtnut.com/l/_N6FIGqRWo0Ul


A. -1

B. 0

C. 1

D. 3

Answer: C

Watch Video Solution

174. For any real  A) 2 B)

 C)  D)none of these

A. 2

B. 

C. 

D. none of these

Answer: C

θ (secθ + tan θ − 1)(secθ − tan θ + 1) = ......

2 secθ 2 tan θ

2 secθ

2 tan θ

https://dl.doubtnut.com/l/_N6FIGqRWo0Ul
https://dl.doubtnut.com/l/_pyGZ8au3Fhj4


Watch Video Solution

175. If  
 A) 

B)1 C)  D)none of these

A. 

B. 1

C. 

D. none of these

Answer: B

Watch Video Solution

cos2 θ − sin2 θ = tan2 α, then: √2 ⋅ cos θ ⋅ cosα = ....

sin θ ⋅ sinα tan2 θ

sin θ ⋅ sinα

tan2 θ

176. 

A. 

B. 

sin 105∘ + cos 105∘ =

sin 15∘

cos 30∘

https://dl.doubtnut.com/l/_pyGZ8au3Fhj4
https://dl.doubtnut.com/l/_eztmixcQfg84
https://dl.doubtnut.com/l/_2GUzukzQIL9t


C. 

D. 

Answer: C

Watch Video Solution

sin 45∘

cos 60∘

177. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sin( + A). cos( + B) − cos( + A). sin( + B) = ...
π

3

π

3

π

3

π

3

cos(A − B)

sin(A − B)

cos(A + B)

https://dl.doubtnut.com/l/_2GUzukzQIL9t
https://dl.doubtnut.com/l/_cfmnqnfju4rb


178. If  then angle  lies

in…….. Quadrant.

A. First

B. Second

C. Third

D. Fourth

Answer: D

Watch Video Solution

0 < A < (π/2) and 0 < B < (π/2), (A − B)

179. If  then angle  lies

in…….. Quadrant.

A. First

B. Second

C. Third

0 < A < (π/2) and 0 < B < (π/2), (A − B)

https://dl.doubtnut.com/l/_r8LGnmTxqzdE
https://dl.doubtnut.com/l/_STquglWFSsqQ


D. Fourth

Answer: B

Watch Video Solution

180. If  where  are both in the first

quadrant, then 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

sinA = 3/5 and cosB = 9/41, A, B

sin(A − B) = ……

−133/205

−84/205

125/205

https://dl.doubtnut.com/l/_STquglWFSsqQ
https://dl.doubtnut.com/l/_bq2Ln68r60Zn


181. If

then 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sinα = 15/17, (π/2) < α < π and secβ = 13/12, (3π/2) < β < 2π.

sin(α − β) =

220/221

−171/221

−140/171

182. If  in third quadrant, , in first

quadrant, then : 

A. 

B. 

tanα = 3/4, α and cos β = 9/41, β

cos(α + β) = ....

−187/84

133/205

https://dl.doubtnut.com/l/_UTJF4M7AG2Gn
https://dl.doubtnut.com/l/_UpP3835sKyu2


C. 

D. none of these

Answer: B

Watch Video Solution

124/205

183. If  where  lies in the second quadrant

and  in the fourth then : 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

sin θ = 1/2, cos ϕ = 12/13, θ

ϕ tan(θ − ϕ) = ....

12 + 5√3

26

(12√3 + 5)

26

5√3 − 12

12√3 + 5

https://dl.doubtnut.com/l/_UpP3835sKyu2
https://dl.doubtnut.com/l/_buvkaDnIc7AK
https://dl.doubtnut.com/l/_OwYJAsvRN8Q1


184. For any angles A and B, 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sin(A + B). sin(A − B) = ......

sin(A2 − B2)

sin2 A − sin2 B

cos2 A − cos2 B

185. For any angles A and B, 

A. 

B. 

C. 

D. none of these

cos(A + B). cos(A − B) = …. .

cos(A2 − B2)

sin2 A − sin2 B

cos2 A − cos2 B

https://dl.doubtnut.com/l/_OwYJAsvRN8Q1
https://dl.doubtnut.com/l/_Mubgzoe6uUee


Answer: C

Watch Video Solution

186. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 + tanA. tan(A/2) = …. .

secA

tanA

cosA

cot A

187. 

A. 

= . .
tan 3A + tanA

tan 3A − tanA

tan 2A

https://dl.doubtnut.com/l/_Mubgzoe6uUee
https://dl.doubtnut.com/l/_wyl2PGErKk6X
https://dl.doubtnut.com/l/_dgIrXnBwQMrV


B. 

C. 

D. 

Answer: D

Watch Video Solution

tan 4A

(tan 4A) /(tan 2A)

(sin 4A) /(sin 2A)

188. For any angles A,B,C.

A. 0

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

+ + = ...
sin(A − B)

cosA. cosB

sin(B − C)

cosB. cosC

sin(C − A)

cosC. cosA

sin(A − B − C)

tan(A − B − C)

https://dl.doubtnut.com/l/_dgIrXnBwQMrV
https://dl.doubtnut.com/l/_T1HmADd4189q


189. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sinx + cos x = √2. sin(.... )

x −
π

4

− x
π

4

x +
π

4

x −
π

2

190. 

A. 

B. 

C. 

D. none of these

cos x − sinx = √2. cos(.... )

x −
π

4

− x
π

2

x +
π

4

https://dl.doubtnut.com/l/_T1HmADd4189q
https://dl.doubtnut.com/l/_7P6RXWTWWWbo
https://dl.doubtnut.com/l/_yr6ZUqwwLryr


Answer: C

Watch Video Solution

191. 

A. 

B. 1

C. 

D. -1

Answer: B

Watch Video Solution

tan 20∘ + tan 25∘ + tan 20∘ . tan 25∘ = ....

−√2

1/√2

192.  is equal to

A. 

tan 40∘ + 2 tan 10∘

tan 20∘

https://dl.doubtnut.com/l/_yr6ZUqwwLryr
https://dl.doubtnut.com/l/_xNh8litj4Vs1
https://dl.doubtnut.com/l/_c7rEOtvZIyXB


B. 

C. 

D. 

Answer: C

Watch Video Solution

tan 80∘

tan 50∘

tan 30∘

193. If  then 

A. 1

B. 2

C. 

D. none of these

Answer: B

Watch Video Solution

A + B = 45∘ (1 + tanA)(1 + tanB) =

tanA. tanB

https://dl.doubtnut.com/l/_c7rEOtvZIyXB
https://dl.doubtnut.com/l/_rlfpNXzbZUGR
https://dl.doubtnut.com/l/_Sx4929B0dsY9


194. If  then : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 sin(x + 60∘ ) = cos(x − 30∘ ), tan = …. .

√3

√2

−√2

−√3

195. 

A. -1

B. 0

C. 1

D. 

tan(45∘ + A)tan(45∘ − A) =

tan 2A

https://dl.doubtnut.com/l/_Sx4929B0dsY9
https://dl.doubtnut.com/l/_vIOMUCLjwslw


Answer: C

Watch Video Solution

196. 

A. 

B. 

C. 

D. 4

Answer: D

Watch Video Solution

tan 75∘ + tan 15∘ = ….

1 + √3

√3 − 1

√3

197. If , then : 

A. not defined

A + B = 90∘ tanA. tanB = ...

https://dl.doubtnut.com/l/_vIOMUCLjwslw
https://dl.doubtnut.com/l/_BFOhBR2TsHOc
https://dl.doubtnut.com/l/_1eFGLbYv2QTf


B. 1

C. 0

D. none of these

Answer: B

Watch Video Solution

198. If  then :  where K=…..

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

sin(θ + ϕ) = 2 sin. (θ − ϕ), tan θ = K, tanϕ,

https://dl.doubtnut.com/l/_1eFGLbYv2QTf
https://dl.doubtnut.com/l/_U4Y8rJmUkg1M
https://dl.doubtnut.com/l/_7ACRYoz5GSQ7


199. If  then : K=….

A. -2

B. -1

C. 2

D. 3

Answer: A

Watch Video Solution

sin θ = 2 sin(θ + 2a) and tan(θ + α) = K. tanα,

200. If  then : 

A. 

B. 

C. 

D. 

sin(x − 60∘ ) = 2. cos(x − 30∘ ), tanx = .... .

√3

3√3

−√3

−3√3

https://dl.doubtnut.com/l/_7ACRYoz5GSQ7
https://dl.doubtnut.com/l/_CHj9fSh2AuVN


Answer: D

Watch Video Solution

201. If  then  is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

3 tan θ tanϕ = 1
cos(θ − ϕ)

cos(θ + ϕ)

202. If  then : θ + ϕ = α, tan θ = K. tanϕ and sin(θ − ϕ) = m. sinα,

m = …. .

https://dl.doubtnut.com/l/_CHj9fSh2AuVN
https://dl.doubtnut.com/l/_EYGBs0k1tbgC
https://dl.doubtnut.com/l/_uYbLRYig1O30


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K −
1

K + 1

K − 1

K + 1

K +
1

K − 1

K + 1

K − 1

203. The value of  is

A. 1

B. 2

C. 0

D. 3

Answer: B

Watch Video Solution

+
cot 54∘

tan 36∘

tan 20∘

cot 70∘

https://dl.doubtnut.com/l/_uYbLRYig1O30
https://dl.doubtnut.com/l/_48u0rB9knK4L


204. 

A. 1

B. 2

C. 3

D. none of these

Answer: A

Watch Video Solution

cos2( − θ) + cos2( + θ) = .... .
π

4

π

4

205. 

A. -1

B. 0

C. 1

cot( ). cot( )cot( )cot( )cot( ) = ....
π

20

3π

20

5π

20
7π
20

9π

20

https://dl.doubtnut.com/l/_48u0rB9knK4L
https://dl.doubtnut.com/l/_Vw8D38QLSb4l
https://dl.doubtnut.com/l/_4eyYXAnBBmpJ


D. none of these

Answer: C

Watch Video Solution

206. 

A. -1

B. 0

C. 1

D. 2

Answer: B

Watch Video Solution

cos( ) + sin2( ) + sin2( ) + cos( ) = ...
π

12

3π

12

9π

12

11π

12

https://dl.doubtnut.com/l/_4eyYXAnBBmpJ
https://dl.doubtnut.com/l/_qbIrDSZHowlj


207. Statement I : 

Statement II 

Statement III: 

A. 1

B. 2

C. -1

D. 0

Answer: B

Watch Video Solution

+ + + = 2
sin2 π

8

sin2(3π)

8

sin2(5π)

8

sin2(7π)

8

+ + + cos2(7 ) = 2
cos2 π

8

cos2(3π)

8

cos2(5π)

8

π

8

+ + =
sin2 π

8

sin3π

8

sin2(5π)

8

sin2(7π)

8

3

2

208. Find the value of

.

A. 

B. 

sin2 5∘ + sin2 10∘ + sin2 15∘ + ............. + sin2 90∘

6
1

2

7
1

2

https://dl.doubtnut.com/l/_UDexlQ6mgxsg
https://dl.doubtnut.com/l/_wXlFYuCWfyHK


C. 

D. 

Answer: D

Watch Video Solution

8
1

2

9
1

2

209. If  where , then : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

secθ = − 13/5, 90∘ < θ < 180∘ , sin θ = …….

109/191

120/199

−120/169

−119/169

https://dl.doubtnut.com/l/_wXlFYuCWfyHK
https://dl.doubtnut.com/l/_WlC4dNBJOp64


210. If  lies in the fourth quadrant, evaluate : 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

cos θ = 3/7, and θ

sin(θ/2), cos(θ/2), tan(θ/2).

√(2/7)

−√(2/5)

−√(5/7)

211. If  then : 

A. 1

B. 2

C. 3

D. none of these

√2 + √2 + 2 cos 4x = K. cos x, K = ….

https://dl.doubtnut.com/l/_P4Dofxr8MzBe
https://dl.doubtnut.com/l/_oJFMV4d2qEqQ


Answer: B

Watch Video Solution

212. For any angle A, 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

4 sinA. sin( − A). sin( + A) = .... .
π

3

π

3

sin 2A

sin 3A

sin 4A

213. 

A. 

cos 20∘ . cos 40∘ . cos 60∘ cos 80∘ =

1/2

https://dl.doubtnut.com/l/_oJFMV4d2qEqQ
https://dl.doubtnut.com/l/_vMna7CasjVkL
https://dl.doubtnut.com/l/_YjDz1z65FvD8


B. 

C. 

D. 

Answer: D

Watch Video Solution

1/22

1/23

1/24

214. 

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

tan 200 tan 400 tan 600 tan 800

https://dl.doubtnut.com/l/_YjDz1z65FvD8
https://dl.doubtnut.com/l/_GHSfBNJkPlQy
https://dl.doubtnut.com/l/_giMDTttP5uD9


215.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

1 − tan2(45∘ − A)

1 + tan2(45∘ − A)

sin 2A

cos 2A

tan 2A

216. If  then: 

A. (8,4)

B. (4,8)

C. (2,8)

D. (8,2)

= tanmA. cot nA,
sec 8A − 1

sec 4A − 1
(m, n) ≡ ....

https://dl.doubtnut.com/l/_giMDTttP5uD9
https://dl.doubtnut.com/l/_SoffzS7cX09u


Answer: D

Watch Video Solution

217. If :  then: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin(α/2)cos(α/2) = .
12

25
sinα =

21/25

22/25

23/25

24/25

218. If  calculate : .

A. 

tanα = 3,
2 sin 2α − 3 sin 2α

4 sin 2α + 5 cos 2α

1/3

https://dl.doubtnut.com/l/_SoffzS7cX09u
https://dl.doubtnut.com/l/_zUYczAHxqdJN
https://dl.doubtnut.com/l/_VW7ulPbxi2gc


B. 

C. 

D. 

Answer: C

Watch Video Solution

4/9

−9/4

−4/9

219. If  find 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sinα + cosα = ,
1

5
tan( ).

α

2

1 or ( − 1/2)

2 or ( − 1/3)

3 or ( − 1/4)

https://dl.doubtnut.com/l/_VW7ulPbxi2gc
https://dl.doubtnut.com/l/_hyehF5wtv2WF
https://dl.doubtnut.com/l/_LXjyREXQYwGe


220. If  are two angles in the first quadrant such that 

, find 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α and β

sin(α + β) = 1 and sin(α − β) = 1/2 tan(α + 2β).

−√2

√2

−√3

√3

221. 

A. 1

B. 2

C. 3

D. 4

√3 cos sec 200 − sec 200

https://dl.doubtnut.com/l/_LXjyREXQYwGe
https://dl.doubtnut.com/l/_kpA863lhSGdu


Answer: D

Watch Video Solution

222. The value of 
is
1 (b)
 
(c) 
(d) 

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

tan 60tan 420tan 660tan 780 1

2

1

4

1

8

223. Statement I : 

Statement II 

Statement III: 

+ + + = 2
sin2 π

8

sin2(3π)

8

sin2(5π)

8

sin2(7π)

8

+ + + cos2(7 ) = 2
cos2 π

8

cos2(3π)

8

cos2(5π)

8

π

8

+ + =
sin2 π

8

sin3π

8

sin2(5π)

8

sin2(7π)

8

3

2

https://dl.doubtnut.com/l/_kpA863lhSGdu
https://dl.doubtnut.com/l/_3UAX2ryFJnuU
https://dl.doubtnut.com/l/_q2JXIvqaDbvl


A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

224. For any angle .  (a) 

(b)  (c)  (d) none of these

A. 

B. 

C. 

D. none of these

Answer: C

θ = ....
sin 2θ + sin 4θ + sin 6θ + sin 8θ

cos 2θ + cos 4θ + cos 6θ + cos 8θ
tan θ

tan 3θ tan 5θ

tan θ

tan 3θ

tan 5θ

https://dl.doubtnut.com/l/_q2JXIvqaDbvl
https://dl.doubtnut.com/l/_1v1Tb0NuFdPW


Watch Video Solution

225. cos40+cos80+cos160 +cos 240

A. -2

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1/2

−√3

1/√3

226. 

A. 

B. 

C. 

sin 70∘ + cos 40∘

cos 70∘ + sin 40∘

√2

1/√2

√3

https://dl.doubtnut.com/l/_1v1Tb0NuFdPW
https://dl.doubtnut.com/l/_4ljFVwuL1JKc
https://dl.doubtnut.com/l/_QJp70phu4Dj3


D. 

Answer: C

Watch Video Solution

1/√3

227. If , then =

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

3 sinα = 5 sinβ
tan( )

α+β

2

tan( )α−β

2

228. The value of  iscos 52∘ + cos 68∘ + cos 172∘

https://dl.doubtnut.com/l/_QJp70phu4Dj3
https://dl.doubtnut.com/l/_kyOMJBXOUTaU
https://dl.doubtnut.com/l/_ddSRdwdjbZhz


A. -1

B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

229. For any angle , 

A. -1

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

θ cos θ + cos(120∘ + θ) + cos(120∘ − θ) = ....... .

√3/2

https://dl.doubtnut.com/l/_ddSRdwdjbZhz
https://dl.doubtnut.com/l/_t7fjI2r81tN0


230. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos2 θ + cos2(120∘ + θ) + cos2(120∘ − θ) = .... .

2/3

3/2

4/5

5/4

231. If , then: 

A. 1

B. 2

C. 3

= tan(Kθ)
sin 8θ. cos θ − sin 6θ. cos 3θ

cos 2θ. cos θ − sin 3θ. sin 4θ
K = ...

https://dl.doubtnut.com/l/_t7fjI2r81tN0
https://dl.doubtnut.com/l/_wvLz5bjYoZ5o
https://dl.doubtnut.com/l/_GsIifA8fMi0f


D. none of these

Answer: B

Watch Video Solution

232. 

A. 1

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

√3 cot 20∘ − 4 cos 20∘ =

√2

√3

https://dl.doubtnut.com/l/_GsIifA8fMi0f
https://dl.doubtnut.com/l/_d6xVAktzopD1


233. If  are the angles of a triangle such that 

, then : 

A. 

B. 

C. 3

D. none of these

Answer: C

Watch Video Solution

A, B, C

tanA = 1 and tanB = 2 tanC = ……….

√3

1/√3

234. If  is any real nubmer then: 

(a) 1 (b)2 (c) 3 (d) none of these

A. 1

B. 2

C. 3

α = ....
sin4 α + sin2 α. cos2 α + cos2 α

cos4 α + sin2 α. cos2 α + sin2 α

https://dl.doubtnut.com/l/_pLQUYo1h4T8x
https://dl.doubtnut.com/l/_i0B8BfdB4OT3


D. none of these

Answer: A

Watch Video Solution

235. If  is any real number, then :

A. 3

B. 

C. 7

D. 

Answer: C

Watch Video Solution

α

(sinα + cos ecα)2 + (cosα + secα)2 − (tan2 α + cot2 α) = ....

−5

2 sin2 α + 3 cos2 α

https://dl.doubtnut.com/l/_i0B8BfdB4OT3
https://dl.doubtnut.com/l/_108deWsw8UP8


236. If  show that : .

A. -1

B. 0

C. 1

D. none of these

Answer: C

Watch Video Solution

Pn = cosn θ + sinn θ, 2P6 − 3P4 + 1 = 0

237. Evaluate : 

A. 

B. 

C. 

D. 

sin 163∘ . cos 347∘ + sin 73∘ . sin 167∘ .

√2

1/2

√3

1/3

https://dl.doubtnut.com/l/_SV0sTPGsWHFu
https://dl.doubtnut.com/l/_bR5PQVZd1YjX


Answer: B

Watch Video Solution

238. 

A. 1

B. 

C. 

D. 2

Answer: C

Watch Video Solution

cos4( ) + cos4( ) + cos4( ) + cos4( ) =
π

8

3π

8

5π

8
7π
8

1/2

3/2

239. 

A. 

=
1

cos 290∘ +

1

√3sin 250∘

1/√2

https://dl.doubtnut.com/l/_bR5PQVZd1YjX
https://dl.doubtnut.com/l/_2VoPPf8WNEYl
https://dl.doubtnut.com/l/_bEgVPa0iGa5T


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3/√2

4/√3

240. If  then:  (a) 

(b)  (c)  (d)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan(π. cos θ) = cot(π. sin θ), cos( − θ) = .... .
π

4

1

2
1

√2

1

2√2

√2

2

1/2

1/√2

1/(2√2))

√2/2

https://dl.doubtnut.com/l/_bEgVPa0iGa5T
https://dl.doubtnut.com/l/_FdTZjqwDXHDC


241. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

= ....
sin2 A − sin2 B

sinA. cosA − sinB. cosB

sin(A − B)

cos(A + B)

tan(A + B)

242. If  then: (a)  (b)  (c)  (d) 

A. 

B. 

C. 

x0 = ( )
c

,
13π

6
x = 300∘ 930∘ 309∘ 390∘

300∘

930∘

309∘

https://dl.doubtnut.com/l/_FdTZjqwDXHDC
https://dl.doubtnut.com/l/_2FhxuKUmNvZk
https://dl.doubtnut.com/l/_BSsPCjCFqBVF


D. 

Answer: D

Watch Video Solution

390∘

243. If  then:  (a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

yc = 27∘ , y = ( )
c20π

3
( )

20π

3
( )

3π

20

π

20

( )
c20π

3

20π

3

3π

20

π

20

https://dl.doubtnut.com/l/_BSsPCjCFqBVF
https://dl.doubtnut.com/l/_3bDPtjE9PejD


244. The value of

is ________

A. 1

B. 

C. 

D. 0

Answer: A

Watch Video Solution

cot 5∘ ⋅ cot 15∘ ⋅ cot 25∘ ⋅ cot 35∘ ⋅ cot 45∘ ⋅ cot 55∘ ⋅ cot 65∘ ⋅ cot 75∘ ⋅ cot

1

√2

1

2

245. Find the value of

.

A. 

B. 

sin2 5∘ + sin2 10∘ + sin2 15∘ + ............. + sin2 90∘

7
1

2

8
1

2

https://dl.doubtnut.com/l/_DhSFs2IjFYQv
https://dl.doubtnut.com/l/_1bUrvl1B9mSB


C. 

D. 8

Answer: C

Watch Video Solution

9
1

2

246. If  then: 

A. 1

B. -1

C. 2

D. 3

Answer: A

Watch Video Solution

tanα = and tanβ = ,
1

3

1

2
tan(α + β) =

https://dl.doubtnut.com/l/_1bUrvl1B9mSB
https://dl.doubtnut.com/l/_dV3Vq21oeOFm


247. If 
, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos ecθ + cot θ =
11

2
tanθ =

21

22

15

16

44
117

22

21

248. If  lies in the fourth quadrant, then: 

A. 

B. 

C. 

D. 

tan θ = and θ
−1

√5
cos θ =

√5

√6

2

√6

1
2

1

√6

https://dl.doubtnut.com/l/_6V4M7Ro66ub0
https://dl.doubtnut.com/l/_Ei3Es2zcY43a


Answer: A

Watch Video Solution

249. If  then evaluate 

A. 0

B. -1

C. 2

D. 1

Answer: D

Watch Video Solution

sinx + sin2 x = 1. cos8 x + 2 cos6 x + cos4 x

250. The value of  is

A. 

cos 1∘ cos 2∘ cos 3∘ ...cos 179∘

1

√2

https://dl.doubtnut.com/l/_Ei3Es2zcY43a
https://dl.doubtnut.com/l/_RwfE7AvJXmGZ
https://dl.doubtnut.com/l/_Ot6oeJOS3MlJ


B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

251. If  then:  (a)  (b) 0 (c)  (d)

A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

tanA = and tanB = ,
1

2

1

3
A + B =

π

4
π

π

6

π

4

π

π

6

https://dl.doubtnut.com/l/_Ot6oeJOS3MlJ
https://dl.doubtnut.com/l/_JFaSNqsA618V


252. The  then: 

A. 1

B. 4

C. 2

D. 8

Answer: C

Watch Video Solution

sin θ + cos ecθ = 2, sin2 θ + cos ec2θ =

253. 

A. 

B. 

C. 

D. 

8 sin. . cos. . cos. . cos. =
x

8
x

2
x

4
x

8

8 cos x

cos x

8 sinx

sinx

https://dl.doubtnut.com/l/_JFaSNqsA618V
https://dl.doubtnut.com/l/_V8Zm4Ximwquy
https://dl.doubtnut.com/l/_rNGVZnq7zUD9


Answer: D

Watch Video Solution

254. If  then: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ + secθ = √3, θ =

5π

6

2π

3

π

6

π

3

255. If . Then:  (a) 0

(b) 1 (c) 2 (d) 3

sinA + sinB + sinC = 3 cosA + cosB + cosC =

https://dl.doubtnut.com/l/_rNGVZnq7zUD9
https://dl.doubtnut.com/l/_6gpPqWwq79Y0
https://dl.doubtnut.com/l/_Wp4ZoKiFkNdC


A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

256. Let `0

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(x − )
π

4

tan( − x)
π

4

tan(x + )
π

4

tan2( + x)
π

4

https://dl.doubtnut.com/l/_Wp4ZoKiFkNdC
https://dl.doubtnut.com/l/_tcKuvf4B3zHP


257. If, in a  then:  (a) 1 (b) 2

(c) 3 (d) 4

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

ΔABC, tanA = 1 and tanB = 2, tanC =

258. If, in a  then: 

A. 

B. 

C. 

ΔABC, tanA = 1 and tanB = 2, tanC =

−
1

x

1

y

+
1

x

1

y

−
1

y

1

x

https://dl.doubtnut.com/l/_tcKuvf4B3zHP
https://dl.doubtnut.com/l/_Nm38JIAj8lMU
https://dl.doubtnut.com/l/_YrJtdGY7u0Ti


D. 

Answer: B

Watch Video Solution

x − y

259. The value of 
is
 
b. 
c. 1 d. 0

A. 

B. 

C. 1

D. 0

Answer: B

Watch Video Solution

sin2 750 − sin2 150 1/2 √3/2

1

2

√3

2

260. If  is a right-angled at A, then: ΔABC cos2 B + cos2 C =

https://dl.doubtnut.com/l/_YrJtdGY7u0Ti
https://dl.doubtnut.com/l/_1x020LdkiGdn
https://dl.doubtnut.com/l/_T36N5gMAnxlu


A. -2

B. -1

C. 1

D. 0

Answer: C

Watch Video Solution

261. 

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

sin6 A + cos6 A + 3 sin2 A. cos2 A =

https://dl.doubtnut.com/l/_T36N5gMAnxlu
https://dl.doubtnut.com/l/_wIstpSOD1SMd


262. If  then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos(A − B) = and tanA tanB = 2,
3

5

cosA. cosB =
1

5

cosA. cosB = −
1

5

sinA. sinB = −
6

5

sinA. sinB = −
1

5

263. If  be the angles of acyclic quadrilateral, show that : 

.

A. 4

B. -2

C. 1

A, B, C, D

cosA + cosB + cosC + cosD = 0

https://dl.doubtnut.com/l/_wIstpSOD1SMd
https://dl.doubtnut.com/l/_CQuQjFqwEDCs
https://dl.doubtnut.com/l/_D6Er6fcqjTyJ


D. 0

Answer: D

Watch Video Solution

264. If  then: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin. + cos. = 1.4,
α

2
α

2
sinα =

50

47

47
50

24
25

25

24

265. If  then value of  istanα + cot α = m tan4 α + cot4 α

https://dl.doubtnut.com/l/_D6Er6fcqjTyJ
https://dl.doubtnut.com/l/_osBItFCSIW5X
https://dl.doubtnut.com/l/_LoCkKD6HwFqz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

m4 − 4m2 + 2

m4 + 4m2 − 2

m4 − 4m2 − 2

m4 + 4m2 + 2

266. If  and , then: =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos θ + cos ϕ = a sin θ − sinϕ = b 2 cos(θ + ϕ)

a2 − b2 − 2

a2 − b2 + 2

a2 + b2 + 2

a2 + b2 − 2

https://dl.doubtnut.com/l/_LoCkKD6HwFqz
https://dl.doubtnut.com/l/_b4PHR6nVgbZg


267. If , then, for all , the value of: 

 (a)  (b)  (c)  (d) 

A. 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinx + cos ecx = 2 n ∈ N

sinn x + cos ecnx = 2 2n 2n− 1 2n− 2

2n

2n − 1

2n − 2

268. If  then:  is (a) isosceles (b)

right angled (c) equilateral (d) obtuse angled

A. isosceles

B. right-angled

sinA + sinB + sinC = .
3√3

2
ΔABC

https://dl.doubtnut.com/l/_b4PHR6nVgbZg
https://dl.doubtnut.com/l/_PbtkM4zkJXWN
https://dl.doubtnut.com/l/_n3BOt6CX9IIr


C. equilateral

D. obtuse-angled

Answer: C

Watch Video Solution

269. In triangle , then the triangle is

necessarily

A. isosceles

B. right-angled

C. equilateral

D. obtuse-angled

Answer: B

Watch Video Solution

ABC, cos2 A + cos2 B − cos2 C = 1

https://dl.doubtnut.com/l/_n3BOt6CX9IIr
https://dl.doubtnut.com/l/_5HmNgjenpc9P
https://dl.doubtnut.com/l/_2k2PoUr2Xf9s


270. If  then: 

A. a

B. 

C. 

D. b

Answer: A

Watch Video Solution

tanx = b/a, a cos 2x + b sin 2x =

a − b

a + b

271. 

A. 

B. 

C. 

D. 

− =
sin2 3A

sin2 A

cos2 3A

cos2 A

cos 2A

8 cos 2A

cos 2A
1

8

cos 2A
1

4

https://dl.doubtnut.com/l/_2k2PoUr2Xf9s
https://dl.doubtnut.com/l/_sM7MecNvmDks


Answer: B

Watch Video Solution

272. If 
then 
 
b. 
c. 

d. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tanθ1tanθ2 = k, =
cos(θ1 − θ2)

cos(θ1 + θ2)

1 + k

1 − k

1 − k

1 + k

k + 1

k − 1
k − 1

k + 1

1 + k

1 − k

1 − k

1 + k

k + 1

k − 1

k − 1

k + 1

273. tan 5x. tan 3x. tan 2x =

https://dl.doubtnut.com/l/_sM7MecNvmDks
https://dl.doubtnut.com/l/_ELaEMaIWCaeo
https://dl.doubtnut.com/l/_ZfpAYlR4QDCQ


A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

tan 5x − tan 3x − tan 2x

sin 5x − sin 3x − sin 2x

cos 5x − cos 3x − cos 2x

tan 5x + tan 3x + tan 2x

274. If  then: 

A. 4

B. 8

C. 5

D. 6

Answer: C

Watch Video Solution

a + b tan θ = secθ and b − a tan θ = 2 secθ, a2 + b2 =

https://dl.doubtnut.com/l/_ZfpAYlR4QDCQ
https://dl.doubtnut.com/l/_PpYeKwP36TZ7


275. If 
 then 
 is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 250 + sin 250 = p, cos 500 √2 − p2 −√2 − p2

p√2 − p2 −p√2 − p2

√2 − p2

−p√2 − p2

p√2 − p2

−√2 − p2

276. If  then y will be

A. 0.3

B. 

C. 

tan(x + y) = 33 and x = tan− 1 3

tan− 1(1.3)

tan− 1(0.3)

https://dl.doubtnut.com/l/_PpYeKwP36TZ7
https://dl.doubtnut.com/l/_Mastrh9bCJTF
https://dl.doubtnut.com/l/_qLQVghiYOCa0


D. 

Answer: C

Watch Video Solution

tan− 1( )
1

18

https://dl.doubtnut.com/l/_qLQVghiYOCa0

